R RS o] IR RUERUES: . FrA9uEs: (20250403)

(T HR B ATHIKAE S, BRI FRI/EAPPIITEE)
e s NFE T PadsiEs S - N TR AR | A5 T B b
T D Tk 21?%;; IE}E;& ﬁ%ﬁggﬁﬁ %Eﬁggﬁﬁ L ggﬁﬁ Y/ N/NE 1#?&) B | A2 1£m#h
FA 510050 50ETF 2 70 60 0|8 2
FA 510100 SZ50ETF 2 70 60 0|8 2
FA 510150 EERETF 2 70 30 0|8 2
FA 510180 180ETF 2 70 40 0|8 2
FA 510210 £HEETF 2 70 60 0|8 2
FA 510230 SRIETF 2 70 60 0|8 2
FA 510300 300ETF 2 70 60 0|8 2
FA 510310 HS300ETF |2 70 60 0|8 2
FA 510330 H#E300 2 70 60 0|8 2
FA 510350 T$R300 2 70 40 0|8 2
FA 510360 I~%300 2 70 60 0|8 2
FA 510500 500ETF 2 70 60 0|8 2
FA 510510 I~%500 2 70 60 0|8 2
FA 510580 ZZ500ETF |2 70 60 0|8 2
FA 510630 T30 2 70 50 0|8 2
FA 510710 _50ETF 2 70 40 0|8 2
A 510720 ARI[EES = 70 60 0|2 =
FA 510760 FETF 2 70 60 0|8 2
FA 510800 _iiF50 2 60 0 0|8 2
FA 510810 isER = 70 40 0|8 2
FA 510880 £IF)ETF 2 70 60 0|8 2
FA 510900 HEZETF 2 70 60 0|8 2
FA 511700 HNLE 2 70 0 ES &
FA 511880 REAF 2 90 60 ES &
FA 511990 HERE = 90 90 ]S &
FA 512000 ETETF 2 70 50 0|8 2
FA 512010 EZ5ETF 2 70 50 0|8 2
FA 512040 EfENE 2 70 60 0|8 2
FA 512070 IEERIE 2 70 50 0|2 =
FA 512100 1000ETF 2 70 60 0|8 2
FA 512170 EFTETF 2 70 50 0|8 2
FA 512290 EYED = 70 50 0|8 2
FA 512330 SEETF 2 70 50 0|8 2
FA 512400 BE&ETF 2 70 50 0|8 2
FA 512480 K 2 70 30 0|8 2
FA 512500 FrilF500 2 70 60 0|8 2
FA 512510 ETF500 2 70 60 0|8 2
FA 512560 iFET 2 70 50 0|82 2
FA 512570 FREES 2 70 50 0|8 2
FA 512580 MRETF 2 70 60 0|8 2
A 512600 WIEEER = 70 50 0|2 =
FA 512660 ZFETETF 2 70 50 0|8 2
FA 512670 EBSETF 2 70 30 0|8 2
A 512680 ETES 2 70 50 0|8 2
FA 512690 SEETF 2 70 30 0|8 2
FA 512700 RITES 2 70 50 0|8 2
FA 512710 FET kL = 70 50 0|8 2
A 512720 IHEH = 70 50 0|8 2
FA 512760 A EETF 2 70 50 0|8 2
A 512800 $RITETF 2 70 50 0|8 2
FA 512810 ERSZEL 2 70 50 0|8 2
A 512820 RITEIRE 2 70 30 0|8 2
FA 512880 IESSETF 2 70 50 0|8 2
A 512890 TFNER 2 70 60 0|2 =

PUBLIC




FA 512900 IE5ES 2 70 50 0|2 2
PA 512930 AIETF 2 70 30 0|2 =
FPA 512950 RIHE 2 70 60 0|2 =
PA 512980 {RIRETF 2 70 60 0|2 =
FA 513010 RRR = 70 50 0|2 =
SPA 513050 =S 2 70 60 0|82 2
SPA 513060 1BEET 2 70 30 0|2 =
SPA 513090 FEs 2 70 60 0|2 =
SPA 513100 YNISETF 2 70 60 0|2 =2
PA 513110 435100 2 70 60 0|2 =2
SPA 513120 HKEFZ |2 70 60 0|2 =
SPA 513130 BERN 2 70 50 0|2 =
SPA 513180 fEiERH 2 70 50 0|2 =
SPA 513200 BIRER = 70 50 0|2 =
SPA 513260 fERH 2 70 30 0|82 2
SPA 513290 GISEY = 70 30 0|2 =
SPA 513300 YNEMATT 2 70 60 0|2 =
SAA 513330 [EE=1:3 2 70 60 0|2 =
SPA 513380 RiptiEE = 70 50 0|2 =
PA 513390 gEES 2 70 40 0|2 =
PA 513400 IR = 70 40 0|82 2
SPA 513500 17500 B 70 40 0|2 =
SAA 513530 FBRRLTF = 70 60 0|2 =
SAA 513550 FER%IE50 B 70 60 0|2 =
SPA 513580 HSEH® = 70 30 0|82 2
SAA 513600 fEH8ETF 2 70 60 0|2 2
SAA 513630 EHBLIF| 2 70 40 0|2 =
SAA 513650 TReSETF 2 70 60 0|2 2
SAA 513660 [EESE] 2 70 60 0|82 2
SAA 513690 EE S 2 70 40 0|2 2
SAA 513700 EHBER 2 70 30 0|82 2
SAA 513750 BAIRIER = 70 60 0|2 =
PA 513770 BIREER = 70 60 0|2 =
SAA 513820 BIRDELL = 70 40 0|2 =
FA 513850 Z£H50 2 70 60 0|2 2
SAA 513860 HKCRIS = 70 30 0|8 2
PA 513870 YETEEN = 70 60 0|2 =
PA 513910 TR = 70 60 0|2 =
SAA 513920 740 2 70 40 0|2 2
SAA 513950 EEZAR] = 70 60 0|2 =
SAA 513980 st = 70 30 0|2 =
SAA 515000 FHZETF 2 70 60 0|2 2
SAA 515010 EEiES = 70 50 0|8 2
SAA 515030 FNRE = 70 60 0|82 2
FA 515050 5GETF 2 70 50 0|2 2
SPA 515070 AIERRE 2 70 50 0|8 2
SPA 515080 e an=Ak = 70 40 0|8 2
SPA 515100 £1%)100 2 70 40 0|2 =
SPA 515120 Bl g 70 50 0|2 =
SPA 515170 BRIRE 2 70 50 0|2 2
SPA 515180 100417 = 70 60 0|8 2
PA 515210 §MEKETF 2 70 50 0|2 2
SPA 515220 JRERETF 2 70 60 0|8 2
SPA 515230 ERAHETF 2 70 60 0|8 2
SPA 515250 e = 70 60 0|82 2
SAA 515260 EBFETF 2 70 50 0|2 2
SAA 515290 $R1T 2 70 30 0|2 2
SAA 515300 £1%300 2 70 60 0|2 =

PUBLIC




PA 515330 X54300 2 70 40 0|2 =
FA 515380 #2300 2 70 40 0|2 =
A 515390 HS300 2 70 40 0|2 =
PA 515400 KEURE = 70 60 0|2 2
PA 515450 £1750 2 70 60 0|2 =
PA 515600 RBIHET = 70 60 0|2 =
PA 515650 iE#250 2 70 50 0|2 =
PA 515700 FEEE = 70 40 0|2 =
PA 515710 BRETF 2 70 50 0|2 =2
PA 515750 750 2 70 60 0|2 2
PA 515790 FELRETF 2 70 50 0|2 =2
SPA 515800 800ETF 2 70 40 0|2 2
PA 515880 B{SETF 2 70 50 0|2 =2
SPA 515890 £TFI AT = 70 40 0|2 =
SPA 515900 REIETF 2 70 40 0|2 =2
PA 515950 EZsk = 70 50 0|2 =
PA 515980 ANTERE = 60 0 0|2 =
SAA 516010 HEXRETF 2 70 50 0|2 2
SPA 516090 FHEIRE 2 70 50 0|2 =
PA 516110 YSZEETF 2 70 50 0|2 2
PA 516150 BIES 2 70 50 0|2 2
PA 516160 FagR = 70 60 o|l2 2
PA 516310 RITIEE = 70 50 0|2 2
PA 516350 50 2 70 50 0|2 2
SPA 516510 =itE = 70 60 0|2 =
SAA 516640 oAk = 70 50 0|2 2
SAA 516670 BREE = 60 0 0|2 2
SAA 516780 WLETF 2 70 50 0|2 2
PA 516820 S rgelE = 70 30 0|2 =
PA 516860 SRR = 70 30 0|2 =
PA 516880 FEIR50 2 70 30 0|2 =
SAA 516920 HHES = 60 0 0|2 2
PA 516950 EFRETF 2 70 40 0|2 2
FA 516970 7850 2 70 50 0|2 2
PA 517090 HEETF 2 70 60 0|2 2
PA 517180 FEER 2 70 60 o2 =2
SAA 517300 AH300ETF |2 60 0 0|2 2
PA 517520 e = 60 0 0|2 2
PA 518660 TiRES = 70 40 0|2 =
PA 518800 BHeES = 70 60 0|2 2
FA 518850 BE9999 |2 70 60 0|2 2
SAA 518880 EEETF 2 70 40 0|2 2
PA 520990 EFRLIF) = 70 40 0|2 =
FA 560010 100082 |2 70 60 0|2 =
FA 560050 MSCIA50 2 70 40 0|2 2
PA 560080 hZ5ETF 2 70 30 0|8 2
PA 560090 IEEIEE = 70 30 0|82 2
PA 560170 RERES = 70 60 0|82 2
SPA 560260 Ef750 2 70 50 0|8 2
SPA 560350 AS0}EEL = 70 40 0|8 2
SPA 560500 500/FHE 2 60 0 0|8 2
SPA 560700 H4TFIJ50 2 70 60 0|8 2
PA 560800 BFETF 2 70 30 0|8 2
SPA 561160 s =N B 70 60 0|2 =
SPA 561190 SRRETF 2 70 60 0|8 2
PA 561230 A50 2 70 40 0|2 2
PA 561580 RLTF = 70 60 0|8 2
SAA 561910 FBRETF 2 60 0 0|2 =

PUBLIC




PA 561980 SHIRE = 70 30 0|2 =
PA 562000 fiFA100 |2 70 60 0|2 2
FPA 562310 300R% 1< = 70 40 0|2 =
PA 562500 HEEA = 70 50 0|2 =
SPA 562510 FRBSETF 2 70 60 0|2 2
SPA 562800 wEERE 2 70 60 0|82 2
PA 562890 AS0FRIE 2 70 60 0|2 2
PA 562990 RepFNE 2 70 60 0|2 2
PA 563000 fhEA50 2 70 60 0|2 2
SPA 563020 {ERAR) = 70 60 0|2 =
SPA 563080 EASOE |2 70 60 0|2 2
SPA 563300 fiE2000 |2 70 60 0|2 =
SPA 563350 FriFA50 2 70 60 0|2 2
PA 588000 #8150 2 70 60 0|2 2
PA 588010 et = 70 40 MES &
SPA 588030 RIEEE = 70 40 0|2 =
PA 588050 RIBIETF 2 70 40 0|2 2
PA 588060 anz St 2 70 60 0|82 2
SPA 588080 RHEUAR50 2 70 60 0|2 2
SAA 588090 R = 70 60 0|2 2
SAA 588120 FI100ETF |2 70 60 0|2 2
SPA 588180 Rl505 2 70 40 0|2 2
SAA 588190 £}61100 2 70 40 0|2 2
PA 588200 ReS A = 70 50 0|2 2
SPA 588220 REJ100F |2 70 40 0|2 2
SAA 588280 HeAE 2 70 40 0|8 2
SAA 588290 oY gel] = 70 30 0|82 2
PA 588300 WEYETF 2 70 40 0|2 2
SAA 588330 eIk = 70 60 0|82 2
PA 588360 BIBIETF 2 70 60 0|2 2
PA 588380 BIIS0ETF 2 70 60 0|2 2
SAA 588400 W B150 2 70 60 0|2 2
PA 588800 &lgyi00c |2 70 60 0|2 2
SAA 600000 HRIRIT = 70 30 0|2 2
FA 600004 BH=3% 2 60 20 0|2 =
SAA 600006 RIXARAD 2 60 20 0|2 =
SAA 600008 BHEIME = 60 20 0|8 2
SAA 600009 EiEig 2 65 20 0|2 2
SAA 600010 AR = 70 30 0|2 =
FA 600011 HEBEERR 2 65 20 0|2 2
FA 600012 fRiEEE 2 50 0 0|2 2
PA 600015 HLERIT = 70 30 0|2 2
SAA 600016 RERT = 70 30 0|2 2
PA 600017 HES = 60 20 0|2 =
SAA 600018 ISR = 60 20 0|2 =
PA 600019 SN = 70 30 0|2 =
PA 600020 FEER = 50 0 0|2 2
PA 600021 LigBh g 60 20 0|2 2
PA 600022 LLIZREMER = 0 0 0|2 =
PA 600023 HnEEER D g 65 20 0|2 2
PA 600025 HEREIKER = 60 20 0|2 2
PA 600026 FRiiEae = 60 20 0|2 2
PA 600027 KB ERR 2 65 20 0|8 2
PA 600028 FERK 2 70 30 0|8 2
FA 600029 BN g 0 0 0|2 =
SAA 600030 SIS 2 70 50 0|2 2
PA 600031 =—&T 2 70 30 0|2 =
PA 600032 A LEEE = 50 0 0|2 =

PUBLIC




PA 600033 EEEE 2 60 20 0|2 =
FPA 600035 BREiE = 50 0 0|2 =
FPA 600036 RRIRIT = 70 50 0|2 =
SPA 600037 MEGL = 0 0 0|82 2
SPA 600038 hERD 2 60 20 0|8 2
SPA 600039 Pa) || &4 2 60 20 0|2 =
SPA 600050 hEE = 70 30 0|82 2
SPA 600052 RERME 2 50 0 RS 5
SPA 600054 Bl 2 50 0 RS 5
SPA 600055 BERET 2 60 20 0|2 =
SPA 600056 FEE? 2 60 20 0|82 2
SPA 600057 BiI&l5 2 60 20 0|2 2
PA 600058 By RE = 50 0 0|2 2
SPA 600059 E=rzAll] 2 60 20 0|2 =
SPA 600060 EEIE = 60 20 0|2 =
SPA 600061 ENREAR = 60 20 0|8 2
SPA 600062 3 EXES = 60 20 0|8 2
SAA 600063 sy 2 60 20 0|2 =
SPA 600064 [ = 60 20 0|8 2
SAA 600066 FEELE = 65 20 0|2 =
SAA 600067 ST = 0 0 0|2 =
FPA 600072 HPRERS 2 60 20 0|2 =
SAA 600073 SERRPgAL 2 60 20 0|2 2
SAA 600076 EERRH = 0 0 0|2 =
SPA 600078 EERD = 0 0 ES &
SAA 600079 ANEEH 2 65 20 0|2 =
SAA 600080 Eian) = 0 0 ES &
SAA 600081 EXEIE = 50 0 0|2 =
SAA 600085 BY_E 2 65 20 0|82 2
PA 600088 PG = 50 0 0|2 =
SAA 600089 ST 2 70 30 0|2 2
SAA 600095 HANARRAD = 60 20 0|82 2
SAA 600096 =AM = 65 20 0|2 =
A 600097 FEIERR = 50 0 0|& &
SAA 600098 IINER = 60 20 0|2 =
A 600099 WiEED = 50 0 0|& =
SAA 600100 Ebagiar) = 0 0 0|2 2
PA 600103 Hzrl = 50 0 ES &
PA 600104 ESERA = 65 20 0|2 =
SAA 600106 BRI = 60 20 0|2 =
SAA 600108 TIESEEH = 60 20 0|2 =
SAA 600109 E£iFs = 65 20 0|8 2
PA 600110 EERD = 60 20 0|2 2
PA 600111 p|oyat;in = 70 30 0|2 =
SAA 600113 ¥NT%&RAE = 50 0 0|2 2
PA 600114 IREERZAD = 60 20 0|2 =
PA 600115 FREZRE = 0 0 0|2 2
PA 600116 =lkKF = 60 20 0|82 2
SPA 600117 FETHSN 2 50 0 ES &
SPA 600118 FERE g 65 20 0|82 2
PA 600120 PiitAR ] = 60 20 0|82 2
PA 600121 PP IGES = 50 0 0|2 =
SPA 600123 =1eRle) B 60 20 0|2 =
PA 600125 B = 60 20 0|2 =
SPA 600126 BRI g 60 20 0|82 2
PA 600127 BRI = 0 0 0|2 2
PA 600128 HEeshl = 50 0 O] ES &
PA 600129 ARERA = 0 0 0|2 2

PUBLIC




PA 600131 ER(EE 2 60 20 0|2 =
A 600132 EKIEE = 60 20 0|2 =
FPA 600133 il = 60 20 0|2 =
SPA 600138 Sk 2 60 20 0|2 =
PA 600141 MREA = 65 20 0|2 =
SPA 600143 SRR 2 65 20 0|2 =
SPA 600148 K&E—FR 2 0 0 ES 5
PA 600150 FRERGAR = 70 30 0|2 2
PA 600151 AARHER 2 0 0 0|2 =
SPA 600153 ERRD 2 65 20 0|2 =
PA 600155 HER=E = 60 20 0|82 2
PA 600157 TKE=EEIR = 65 20 0|2 =
SPA 600160 B 2 65 20 0|2 =
SPA 600161 KIzEY) = 65 20 0|2 =
SPA 600163 FEEER = 50 0 0|2 =
SPA 600166 BHESE 2 60 20 0|2 =
PA 600167 SR = 50 0 0|2 2
SAA 600169 KRET 2 60 20 0|2 =
PA 600170 LT g 60 20 0|2 =
PA 600171 EiEmig = 0 0 0|2 =
FPA 600172 =HEX, = 0 0 0|2 =
SPA 600176 FEER = 65 20 0|8 2
PA 600178 RLhh = 0 0 ES &
PA 600179 LB = 60 20 0|82 2
SPA 600180 xiE 2 50 0 0|82 2
SAA 600182 SESE] = 50 0 S &
PA 600183 Rl 2 65 20 0|2 =
PA 600184 SRR = 50 0 0|2 2
SAA 600186 EER 2 60 20 0|2 =
PA 600187 Ech7ksS 2 60 20 0|8 2
SAA 600188 U BER 2 65 20 0|8 2
SAA 600189 REER 2 0 0 S &
A 600195 RS = 50 0 0|2 =
SAA 600196 SEEY 2 65 20 0|2 2
FA 600197 ek 2 60 20 0|2 2
PA 600199 EWTFE = 0 0 0|2 2
SAA 600200 B = 0 0 0|2 =
SAA 600201 EYRRAD 2 60 20 0|82 2
PA 600202 A=A = 50 0 O] ES &
SAA 600206 Biftsa 2 60 20 0|82 2
SAA 600210 Tl 2 60 20 0|2 =
PA 600211 FaREZal = 60 20 0|2 2
FA 600212 TR 2 0 0 0|2 =
PA 600215 IRERAA = 50 0 O] ES &
SAA 600216 InTEZS = 60 20 0|82 2
SPA 600217 RS 2 60 20 0|8 2
PA 600219 EaLLERL = 65 20 0|2 2
PA 600221 TSR = 65 20 0|2 =
PA 600226 ) = 60 20 OES &
SPA 600227 FRE, 2 0 0 ES &
SPA 600229 S aRlig 2 50 0 0|2 2
SPA 600230 FEIAA g 50 0 0|2 =
PA 600231 RINR D = 0 0 0|2 =
SPA 600232 SERD g 50 0 S &
SPA 600233 [EEESE B 65 20 0|82 2
SAA 600236 FETSE S B 50 0 0|2 2
PA 600237 IR F = 50 0 0|2 2
PA 600241 RATE = 50 0 ES &

PUBLIC




PA 600248 R RRAD = 60 20 0|2 2
FPA 600251 TEARRAD = 50 0 0|2 =
FPA 600252 PEEH 2 0 0 0|2 =
PA 600255 SZrRE = 60 20 0|82 2
SPA 600256 ISCEeR 2 65 20 0|2 =
SPA 600257 paiav) = 0 0 0|2 =
PA 600258 )i = 60 20 0|82 2
SPA 600259 I REtE 2 0 0 0|2 =
SPA 600262 Bl oysg: v 2 50 0 RS 5
SPA 600267 FEIEZl 2 60 20 0|2 =
PA 600268 EEBfEE = 50 0 0|2 2
PA 600269 ERESE = 60 20 0|82 2
SPA 600271 XER 2 60 20 0|2 =
SPA 600273 EIEER 2 60 20 0|2 =
SPA 600276 ERREZ = 70 50 0|8 2
SPA 600278 iyayein 2 50 0 0|2 =
PA 600282 [z = 60 20 0|82 2
SAA 600283 HTKF 2 50 0 ES &
PA 600284 TEERER = 60 20 0|2 =
PA 600285 BT = 60 20 0|2 2
PA 600292 :‘:izﬂ" R = 60 20 0|2 =
SPA 600295 ER/REHT 2 60 20 0|2 2
SAA 600298 LIS 2 65 20 0|8 2
PA 600299 Eoe b = 60 20 0|8 2
SPA 600300 LEERRAD 2 50 0 ES &
PA 600301 “eatE 2 60 20 ] ES =
SAA 600305 {EIFEES L 2 60 20 0|82 2
PA 600307 SENTR S 2 0 0 0|2 2
PA 600308 R = 50 0 0|82 2
PA 600309 B = 70 30 0|8 2
PA 600312 FERS 2 60 20 0|8 2
SAA 600313 REM = 60 20 0|82 2
PA 600315 EBxK = 60 20 0|2 =
A 600316 HERE = 0 0 0|2 =
SAA 600319 TWENE 2 0 0 0|1& =
PA 600320 REET 2 60 20 0|82 2
SAA 600323 BIEE 2 60 20 0|2 2
SAA 600326 FORIALS = 0 0 0|82 2
PA 600328 rREb b T 2 60 20 0|82 2
PA 600329 K= 2 60 20 0|82 2
SAA 600330 KIBARAD 2 60 20 0|2 =
FA 600331 e Nan) 2 0 0 0|2 =
FA 600332 Bz=L 2 65 20 0|2 =
PA 600333 KERS = 0 0 0|2 =
A 600335 ENSE 2 0 0 0|2 =
PA 600337 EBRE 2 0 0 0|8 2
PA 600338 FERERIE 2 0 0 0|8 2
PA 600339 FiMTE = 60 20 0|2 2
PA 600343 fnRah = 0 0 0|2 2
SPA 600345 K@ = 50 0 0|8 2
SPA 600346 [EVAY=1Ed B 65 20 0|82 2
SPA 600348 EPRRS D g 60 20 0|82 2
PA 600350 EREE g 60 20 0|2 2
PA 600351 W=z B 50 0 0|2 =
PA 600352 iAW = 65 20 0|2 2
PA 600353 TBYeERF = 60 20 0|8 2
SAA 600356 EE=AA 2 50 0 S &
PA 600361 Bl 2 60 20 ES =

PUBLIC




PA 600362 PN 2 65 20 0|2 2
A 600363 BEBISEER = 65 20 0|2 =
FPA 600366 TREIT = 0 0 0|2 =
SPA 600367 TERE 2 50 0 0|2 =
SPA 600368 FiMNEEB = 50 0 0|2 =
SPA 600369 FEREIES = 60 20 0|2 =
PA 600372 chALE = 65 20 0|8 2
PA 600373 FRIZ{E R = 60 20 0|82 2
SPA 600377 PR 2 60 20 0|2 =
PA 600378 KRR = 60 20 0|82 2
SPA 600379 Esaran) = 50 0 0|2 =
SPA 600380 BT 2 60 20 0|2 =
SPA 600382 T IRAEER = 50 0 RS 5
FA 600386 L = 50 0 0|2 =
SPA 600388 TRIRR 2 60 20 0|2 =
SPA 600389 LIRS = 60 20 0|2 =
PA 600390 Y EAR 2 60 20 0|8 2
SAA 600391 ARl = 60 20 0|2 =
PA 600392 BANER = 60 20 0|8 2
PA 600395 TR 2 60 20 0|2 =
PA 600396 FEEBITRE = 50 0 ES &
SPA 600397 LRl 2 0 0 S &
PA 600398 ERZR = 65 20 0|2 =
PA 600399 ol 2 60 20 0|2 =
SPA 600400 AT ) = 50 0 0|2 =
PA 600403 KERER = 0 0 0|2 =
SAA 600406 EFR R 2 70 30 0|2 2
SAA 600409 =T 2 60 20 0|2 =
FPA 600410 (N = 0 0 0|2 =
SAA 600415 /NEERIR 2 65 20 0|8 2
PA 600416 HEEERR (D = 60 20 0|82 2
PA 600418 LESE = 0 0 0|2 =
SAA 600420 EZ5IL = 60 20 0|8 2
PA 600422 Brigd B 60 20 0|2 =
PA 600425 BIENL = 50 0 0|2 2
SAA 600426 KEEH = 65 20 0|82 2
PA 600428 it = 60 20 0|2 2
SAA 600429 =JohRD 2 50 0 0|1& =
PA 600435 b5 SR = 60 20 0|2 =
SAA 600436 FiFE = 70 30 0|8 2
SAA 600438 BRI = 70 30 0|2 2
FA 600439 UGS 2 0 0 ES &
SAA 600444 ENLER 2 50 0 ES &
PA 600446 SRR = 60 20 0|2 =
PA 600448 Ehalan) = 50 0 0|2 2
PA 600449 TEEM = 60 20 0|2 2
PA 600452 ERE N = 60 20 0|2 2
FA 600455 EERD g 50 0 0|& =
PA 600456 ES7Nan) g 60 20 0|2 =
PA 600458 ) = 60 20 0|2 =
PA 600459 HEFERL = 60 20 0|2 2
SPA 600460 | = 0 0 0|2 =
PA 600461 IS B 60 20 0|2 =
PA 600467 FHER = 50 0 0|2 2
PA 600468 Bl 2 50 0 ES &
PA 600475 S CINEE = 50 0 0|2 2
PA 600476 HERREH = 0 0 0|& &
SAA 600477 RN 2 60 20 0|2 2

PUBLIC




PA 600478 Bhin 2 0 0 0|2 =
FPA 600479 FE&wl = 50 0 RS 5
FPA 600480 BB 2 60 20 0|2 =
PA 600481 WERTIHE = 60 20 0|82 2
PA 600482 FERIN = 65 20 0|82 2
PA 600483 (BT = 60 20 0|82 2
SPA 600486 BRI T 2 60 20 0|2 =
SPA 600487 SR 2 65 20 0|2 =
SPA 600488 gl 2 50 0 RS 5
PA 600489 FEES 2 65 20 0|82 2
SPA 600491 WITiER = 0 0 0|2 =
SPA 600493 RUFT454R = 50 0 RS 5
PA 600495 EPa5E = 50 0 0|2 2
PA 600496 AL = 60 20 0|82 2
SPA 600497 Qe 2 65 20 0|2 =
PA 600498 Y& XIBIE = 65 20 0|82 2
PA 600499 FhAHIE = 60 20 0|82 2
PA 600500 FEERR 2 0 0 0|2 =
SPA 600501 KRB = 60 20 0|2 =
SAA 600502 RHET 2 60 20 0|2 2
SAA 600507 FAREHN = 60 20 0|8 2
SPA 600509 XEBR = 60 20 0|2 =
SAA 600511 EZ& D = 60 20 0|8 2
SAA 600513 BRERZg L 2 50 0 S &
PA 600516 BARER = 60 20 0|82 2
PA 600517 EZESN = 60 20 0|82 2
SAA 600518 el 2 65 20 0|82 2
PA 600519 BMNFE = 70 50 0|2 2
SAA 600521 esrrsh|g 2 60 20 0|82 2
SAA 600522 PRRIS = 65 30 0|82 2
SAA 600523 EUlAn) = 50 0 0|82 2
PA 600525 KEEA = 50 0 0|82 2
SAA 600526 FEAMR = 50 0 0|& =
SAA 600527 IR=ET 2 50 0 S &
SAA 600528 Rk Tl 2 60 20 0|82 2
SAA 600529 LIZRZ5TY = 60 20 0|2 =
SAA 600531 Boteh = 60 20 0|2 =
PA 600535 Xt+h = 60 20 0|2 =
A 600536 PR 2 0 0 0|2 =
A 600538 ERBSD = 0 0 0|& =
A 600545 HRRERRE = 50 0 0|2 =
SAA 600546 LLIEERR = 60 20 0|2 =
PA 600547 LFRES = 70 30 0|2 =
PA 600548 IREIER = 50 0 0|2 2
PA 600549 B8k = 65 20 0|2 2
PA 600550 RS = 0 0 0|2 =
PA 600551 R R g 50 0 0|2 =
PA 600552 YRR 2 60 20 0|8 2
PA 600556 XT5H 2 60 20 0|8 2
PA 600557 B = 60 20 0|2 2
PA 600558 pANi)ES = 50 0 WS &
PA 600559 EZETE = 60 20 0|2 =
PA 600560 EHXIE = 50 0 ES &
PA 600562 EERHY = 60 20 0|82 2
PA 600563 AR T = 65 20 0|82 2
SAA 600566 55125k 2 60 20 0|82 2
PA 600567 LLIFEERR 2 60 20 0|82 2
PA 600569 PREL = 0 0 0|2 =

PUBLIC




A 600570 EEazz = 70 30 0|2 =
PA 600571 (ERii3%S = 60 20 0|82 2
PA 600572 BER = 60 20 0|2 =
SPA 600573 HEREE 2 50 0 ES 5
PA 600575 FEABETR = 60 20 0|2 =
PA 600577 FEAR D = 60 20 0|2 =
FA 600578 s = 50 0 0|2 =
FA 600580 EMEERIR 2 65 20 0|2 =
SPA 600582 KR = 60 20 0|2 =
FA 600583 EHRTAE = 60 20 0|2 =
SPA 600584 KR = 70 30 0|2 =
FA 600585 SRR = 70 30 0|2 =
FA 600586 SRR = 60 20 0|2 =
SPA 600587 FeET = 60 20 0|2 =
PA 600588 PR ML = 0 0 0|2 2
FA 600590 R = 60 20 0|2 =
SPA 600592 TERRAD = 60 20 0|2 =
PA 600594 =IEFIA = 50 0 0|2 2
PA 600595 shEsnl 2 60 20 0|82 2
PA 600596 RRID = 60 20 0|2 =
PA 600597 SeagZLl 2 60 20 0|82 2
PA 600598 | 2 60 20 0|2 =
SAA 600600 SEEE 2 65 20 0|2 =
PA 600601 HIEREE = 60 20 0|8 2
SPA 600602 =K = 65 20 0|8 2
PA 600609 SNSE = 60 20 0|8 2
PA 600611 KRB = 60 20 0|8 2
PA 600612 BRI = 60 20 0|2 =
PA 600616 SE 2 0 0 0|2 =
FPA 600617 EFrEETR = 50 0 0|2 =
PA 600619 SERRAD = 0 0 0|2 =
PA 600620 K= 2 50 0 0|2 2
FA 600621 AR 2 60 20 0|2 2
PA 600623 HEEHR = 60 20 0|8 2
SAA 600624 s88% = 0 0 0|82 2
PA 600628 SR = 50 0 0|& =
FA 600629 R 2 60 20 S &
SAA 600633 AT = 60 20 0|82 2
PA 600635 ARAH = 60 20 0|8 2
PA 600637 R75REEE 2 60 20 0|2 2
A 600640 EBKZ1 = 0 0 0|2 =
FA 600642 FRRERR 2 60 20 0|2 2
FA 600643 SRR 2 60 20 0|2 2
A 600645 HRiEHDFD 2 60 20 0|2 =
PA 600648 SR = 50 0 0|8 2
PA 600651 TKRE = 60 20 0|1& B
PA 600653 FRAEY=pR = 50 0 0|2 =
PA 600654 hERl 2 60 20 S &
PA 600655 BRI B 60 20 0|8 2
PA 600660 iEres 2 70 30 0|8 2
PA 600661 BIE 2 0 0 0|8 2
PA 600662 IMRIERR = 50 0 0|2 =
PA 600664 TAZ45RR 2 60 20 0|8 2
PA 600666 BaLgE B 0 0 S &
PA 600667 ARSEA = 60 20 0|2 2
PA 600668 KSR 2 50 0 0|2 2
PA 600673 IRBEYE = 0 0 0|2 2
HA 600674 JIIRBSR B 65 20 0|2 =

PUBLIC




PA 600676 iz D 2 0 0 0|2 =
FPA 600678 M) I|1&TR = 0 0 RS 5
FPA 600681 ElE2E = 50 0 0|2 =
PA 600682 Bt = 60 20 0|8 2
SPA 600685 FREBHS = 60 20 0|2 =
FA 600686 o Agh:d 2 60 20 0|2 =
FA 600688 fa=Yatid = 60 20 0|2 =
SPA 600690 ERER = 70 30 0|2 =
FA 600691 PR T = 0 0 0|2 =
PA 600694 PN = 60 20 0|8 2
SPA 600697 ERIPEEA 2 50 0 RS 5
SPA 600698 HRRIE = 0 0 RS 5
SPA 600699 T 2 65 20 0|2 =
SPA 600702 =5l = 60 20 0|82 2
SPA 600703 =2 2 65 20 0|2 =
PA 600704 YIFEh K = 60 20 0|82 2
SPA 600707 FATRRAD = 60 20 0|2 =
SAA 600710 eIV 2 60 20 0|8 2
SPA 600717 PN 5 = 60 20 0|2 =
PA 600718 RIREHR = 60 20 0|2 2
SAA 600719 FOERER 2 0 0 ES &
SPA 600720 g 2 60 20 0|8 2
SAA 600721 BRED = 50 0 ES &
A 600728 EEPR 2 60 20 0|2 =
SPA 600729 BEXRAEH 2 60 20 0|2 =
SAA 600730 FEER = 50 0 0|82 2
SAA 600732 %Mﬁ{ﬁ = 60 20 0|8 2
SAA 600733 16GEES 2 0 0 0|2 =
SAA 600734 SORER = 60 20 ] ES &
PA 600735 R = 50 0 ES &
SAA 600737 chiRgEl 2 60 20 0|82 2
FA 600738 I 6 2 50 0 ES &
SAA 600739 TTRK 2 60 20 0|2 =
SAA 600740 LIFEEEMY, = 60 20 0|2 2
SAA 600741 HEIHEE 2 65 20 0|2 2
PA 600742 —SEH = 60 20 0|2 =
PA 600744 HRE N = 0 0 0|2 =
PA 600745 EESSE = 65 20 0|2 =
SAA 600746 RS = 0 0 0|1& =
PA 600749 itz = 50 0 O] ES &
PA 600750 PG NI = 60 20 0|2 =
PA 600751 SRR = 50 0 0|2 =
PA 600754 ETAR = 60 20 0|82 2
SAA 600755 BiIER = 60 20 0|8 2
A 600756 TRERE = 0 0 0|2 =
PA 600757 KITER = 60 20 0|82 2
PA 600758 TTRER = 50 0 0|2 =
PA 600759 MERES = 60 20 VES &
PA 600760 PR E = 65 20 0|2 2
PA 600761 ZE 2 60 20 0|8 2
PA 600763 BRET = 60 20 0|82 2
PA 600764 hESEH 2 60 20 0|8 2
PA 600765 FRRREEH = 65 20 0|82 2
PA 600770 Eobadan) = 0 0 0|2 =
SPA 600771 I 5T 2 60 20 0|8 2
SAA 600774 IR 2 50 0 ES &
PA 600775 [ = 0 0 0|2 =
SAA 600776 EHEE = 60 20 0|8 2

PUBLIC




PA 600779 KH = 60 20 0|2 =
FPA 600780 BEER = 50 0 0|2 =
FPA 600782 ATENBR D = 60 20 0|2 =
FA 600783 E(501% = 50 0 0|2 =
FA 600785 MHEER 2 50 0 RS B
SPA 600787 RERR D 2 60 20 0|8 2
PA 600789 EHED 2 60 20 0|8 2
SPA 600792 =IRBER = 50 0 RS B
PA 600795 Es]zz1==ha) 2 65 20 0|8 2
FA 600796 HiTEN 2 50 0 RS B
SPA 600797 AR = 60 20 0|8 2
FA 600798 TREIE = 50 0 0|2 =
FA 600800 s = 0 0 0|2 =
PA 600801 KR 2 60 20 0|82 2
SPA 600802 BEEKR = 0 0 0|2 =
FA 600803 FERRRID = 60 20 0|2 =
FA 600805 HIKIRE = 50 0 0|2 =
PA 600807 FEaRE = 0 0 ES B
PA 600808 = ) = 0 0 = =
PA 600809 LIFEDE = 70 30 0|2 =
SAA 600810 HEER D = 50 0 0|8 2
SPA 600812 HALFIZS 2 60 20 0|8 2
A 600814 RS 2 50 0 ES &
PA 600815 BRI 2 0 0 S &
PA 600816 EITEE = 0 0 0|2 =
PA 600817 FEET 2 50 0 ES B
SAA 600819 YRR 2 50 0 S &
SAA 600820 BRERG D = 60 20 0|8 2
PA 600821 E ATl = 60 20 0|82 2
PA 600822 iR = 50 0 0|2 =
PA 600824 mERER = 50 0 OES &
PA 600825 LR = 50 0 0|8 2
PA 600826 =R 2 50 0 0|2 =
FA 600827 EEERRD 2 60 20 0|8 2
PA 600829 INSEES 2 50 0 S &
PA 600830 HiaphiE 2 50 0 0|2 =
PA 600834 SRS = 50 0 0|& &
PA 600835 BB = 60 20 0|2 =
PA 600839 PO) | <41 2 65 20 0|2 =
A 600841 AR = 0 0 0|& &
PA 600843 +ETEn = 60 20 0|2 =
A 600844 FERERS = 0 0 0|& &
PA 600845 EERH = 65 20 0|2 =
PA 600850 R 2 60 20 0|2 =
FA 600857 TRFE 2 50 0 0|1& &
PA 600858 SREERR D B 50 0 S &
PA 600859 FrFH = 60 20 0|2 =
PA 600861 JtEmAS 2 60 20 S &
PA 600862 =g ! 2 65 20 0|8 2
PA 600863 ] B 60 20 0|8 2
PA 600864 AR 2 60 20 0|8 2
PA 600866 iRl = 60 20 0|2 =
PA 600867 BWERE B 60 20 0|8 2
PA 600868 SRS g 0 0 0|2 =
PA 600869 TR = 60 20 0|2 =
PA 600871 AHR = 60 20 0|2 =
SAA 600872 FIEEH 2 60 20 0|82 2
SAA 600873 =Yz 2 65 20 0|82 2

PUBLIC




PA 600874 BIMLIRMER = 50 0 0|2 =
FPA 600875 EHHS = 65 20 0|2 =
FPA 600876 EREEEE 2 0 0 0|2 =
PA 600877 BROH = 60 20 0|82 2
SPA 600879 fRKEBF = 65 20 0|2 =
SPA 600881 NIE==SI7i| = 0 0 0|2 =
SPA 600882 PATIESS = 60 20 0|2 =
FA 600883 [ = 50 0 RS B
SPA 600884 RAZRRAD = 60 20 0|2 =
FA 600885 TR RS = 65 20 0|2 =
PA 600886 EiZEB 1 = 65 20 0|8 2
SPA 600887 Eaillie) 2 70 30 0|8 2
FA 600888 HrEEAAD = 60 20 0|2 =
FA 600893 fn&EIh = 70 30 0|2 =
SPA 600894 I=E ) = 60 20 0|2 =
PA 600897 B8 = 50 0 0|82 2
FA 600900 KTH N = 70 50 0|2 =
PA 600901 IETE 2 65 20 0|2 =
PA 600905 =IgkEER 2 70 30 0|2 =
PA 600906 THEIES 2 60 20 0|2 =
PA 600908 FRRIT = 60 20 0|8 2
SPA 600909 i 2 60 20 0|8 2
PA 600916 FEEE = 60 20 0|8 2
PA 600917 BRRS = 50 0 0|2 2
SPA 600918 FhZRiES 2 60 20 0|8 2
SAA 600919 TTMRIT 2 70 30 0|2 =
SAA 600925 TRERR D = 50 0 S &
FA 600926 TR = 70 30 0|2 =
SAA 600927 KELHIER = 50 0 ES &
SAA 600928 FEZIRIT = 60 20 0|8 2
PA 600929 EXE 2 50 0 0|2 2
PA 600933 Ehas 2 60 20 0|82 2
SAA 600935 HEIBRRAD 2 50 0 S &
PA 600938 TR E;SH = 70 30 0|8 2
FA 600941 hERh 2 70 30 0|2 2
PA 600955 HETRR D = 50 0 ES &
PA 600956 HRLREE 2 50 0 0|2 2
PA 600958 ERFIES 2 65 20 0|82 2
SAA 600959 TE% = 60 20 0|2 =
A 600960 HESE 2 0 0 0|& B
FA 600961 L= S5] = 60 20 0|8 2
PA 600963 PRV = 60 20 0|82 2
A 600966 &Rl = 50 0 0|2 =
PA 600967 RZ=E—H = 60 20 0|8 2
PA 600968 EHEE = 60 20 0|2 =
A 600969 WRERERR g 0 0 0|& =
PA 600970 A ERR = 60 20 0|2 2
PA 600971 EEIES 2 60 20 0|8 2
SPA 600973 ERERRD B 0 0 0|2 =
SPA 600975 #HAE = 60 20 0|8 2
PA 600976 BRER 2 60 20 0|8 2
PA 600977 FERE 2 60 20 0|8 2
PA 600979 I RENX = 60 20 o2 2
PA 600983 ==Y} = 50 0 WS &
PA 600985 EEEE = 60 20 0|2 2
PA 600986 I EEX = 60 20 0|82 2
PA 600987 fnEED = 50 0 0|2 2
SAA 600988 TREES B 65 20 0|82 2

PUBLIC




PA 600989 EFER 2 65 20 0|2 =
FPA 600990 PUBIEEF = 0 0 0|2 =
FPA 600992 Bralan) 2 0 0 RS 5
SPA 600993 =Yy, 2 2 60 20 0|2 =
SPA 600995 [ = 60 20 0|2 =
SPA 600996 I = 0 0 0|2 =
SPA 600997 FFEERRAS 2 50 0 0|2 =
SPA 600998 LB 2 60 20 0|2 =
SPA 600999 BRES 2 70 30 0|2 =
SPA 601000 BB 2 60 20 0|2 =
SPA 601001 il = 60 20 0|82 2
SPA 601002 Eizzoll 2 50 0 0|2 2
SPA 601003 HERARAL = 0 0 0|2 =
SPA 601005 BRI 2 0 0 0|2 =
SPA 601006 KRR 2 70 30 0|2 =
PA 601007 SERRE = 50 0 O ES &
SPA 601008 ERB 2 50 0 0|2 =
SAA 601009 BaURIT = 70 30 0|2 =
PA 601010 gD = 50 0 0|2 2
PA 601011 EIRPE = 0 0 0|2 =
PA 601012 FEELREE = 70 30 0|2 2
SPA 601016 TIREXIER 2 60 20 0|8 2
SAA 601018 TR = 60 20 0|2 =
SAA 601019 LIZRHhR = 50 0 0|2 =
SPA 601020 Kz 2 60 20 0|82 2
SAA 601021 Hiin= = 65 20 0|8 2
PA 601022 TRImF = 50 0 0|2 =
SAA 601033 KM = 50 0 0|2 =
SAA 601038 —HERR D = 50 0 0|2 =
PA 601058 e = 65 20 0|2 =
SAA 601059 (SIKIES 2 60 20 0|8 2
SAA 601061 HEEE 2 50 0 0|2 2
PA 601065 JTEEER = 50 0 0|2 =
SAA 601066 PSR = 65 20 0|2 =
SAA 601068 R ERR = 50 0 0|2 =
SAA 601069 FEEpES = 0 0 0|2 =
PA 601077 RETT = 65 20 0|2 2
SAA 601083 BiIis = 50 0 0|2 =
PA 601086 EEEA = 50 0 ES &
SAA 601088 R EfAE = 70 30 0|2 =
SAA 601089 BED = 50 0 0|1& =
SAA 601098 FRgIER = 60 20 0|2 =
SAA 601099 AFEE = 65 20 0|2 =
PA 601100 fBxLE = 70 30 0|2 2
SAA 601101 SRR 2 60 20 0|2 2
PA 601106 FE—E g 0 0 0|2 2
PA 601108 HEBIEE = 65 20 0|2 =
PA 601111 FEERR = 0 0 0|2 2
PA 601113 ) = 50 0 0|& &
SPA 601117 RE S 2 65 20 0|8 2
PA 601118 SRR = 60 20 0|82 2
PA 601121 Esn Il = 50 0 o|l& &
SPA 601126 P75 Rges g 60 20 0|82 2
SPA 601127 E=ya): i 2 0 0 0|2 2
PA 601128 HEMRIT = 65 20 0|2 2
HA 601133 TERRARAD = 50 0 0|2 =
PA 601136 ERnE= = 60 20 0|82 2
SAA 601137 BEEE 2 60 20 0|2 2

PUBLIC




PA 601138 Tl EEL = 65 20 0|2 =
FPA 601139 RRS = 50 0 0|2 =
FPA 601156 ERR 2 60 20 0|2 =
PA 601158 BRKS 2 50 0 0|82 2
PA 601162 KIRES = 65 20 0|2 =
SPA 601163 =fha 2 60 20 0|2 =
PA 601168 FaERE = 65 20 0|2 =2
SPA 601169 bRRTT = 70 30 0|2 =
PA 601177 ISzl peis = 60 20 S &
PA 601179 FREFEER = 60 20 0|82 2
PA 601186 FREIEkEE = 65 20 0|82 2
PA 601187 BiJERT = 60 20 MES &
SPA 601198 RNGIES = 65 20 0|2 =
SPA 601200 iSRS 2 60 20 0|2 =
PA 601208 MR = 60 20 0|82 2
PA 601211 EFRER = 70 50 0|2 2
SPA 601212 HiFEE = 60 20 0|82 2
PA 601216 EIFEA = 65 20 0|82 2
HA 601218 EERE 2 50 0 0|2 =
A 601222 MEBETR 2 60 20 0|2 =
SAA 601225 S el] 2 70 30 0|2 2
SPA 601226 R T 2 50 0 0|2 2
SAA 601228 Ik = 50 0 0|82 2
FA 601229 EiSiRT = 70 30 0|2 =
SPA 601231 NEERF = 60 20 0|8 2
PA 601233 HRERSD = 65 20 0|8 2
PA 601236 ARSTE= 2 60 20 0|2 =
PA 601238 TSR = 60 20 0|2 =
A 601279 TFISZE 2 50 0 ES &
PA 601288 2VERIT = 70 30 0|82 2
SAA 601298 =56 2 60 20 0|2 =
SAA 601311 IZICRR (D 2 60 20 0|2 2
SAA 601318 hEFEL 2 70 50 0|2 2
PA 601319 FE AR = 65 20 0|2 2
SAA 601326 EBRID = 50 0 0|2 2
SAA 601333 TRERER = 60 20 0|2 =
PA 601336 RS = 65 20 0|2 2
PA 601339 BERS = 50 0 0|8 2
PA 601360 =AF = 0 0 0|2 =
SAA 601368 RIS = 50 0 0|1& =
PA 601369 [SSTeupal 2 60 20 0|82 2
SAA 601375 S = 60 20 0|8 2
PA 601377 AN = 65 20 0|2 =
PA 601388 TBRERER = 50 0 0|8 2
PA 601390 FREEE 2 70 30 0|2 2
SPA 601398 TriRIT B 70 30 0|8 2
PA 601399 E =% 2 60 20 0|8 2
PA 601456 ERRE = 60 20 0|2 2
PA 601500 BRI g 60 20 0|82 2
PA 601515 RIEER 2 50 0 0|2 2
PA 601518 EM iR = 50 0 OES &
PA 601519 AE= 2 60 20 0|8 2
PA 601528 WERIT = 60 20 OES &
PA 601555 KRS 2 65 20 0|82 2
PA 601566 JURE 2 50 0 0|8 2
SAA 601567 =EE7 = 65 20 0|2 =
PA 601568 tTEA = 60 20 0|82 2
PA 601577 KIDIRIT = 65 20 0|2 =

PUBLIC




PA 601579 =il 2 50 0 0|2 =
FA 601595 g = 60 20 0|1& &
FPA 601598 FEINE 2 60 20 0|2 =
SPA 601599 iR 2 50 0 0|1& 5
PA 601600 FhE R 2 70 30 0|2 2
PA 601601 FEAR = 70 30 0|82 2
SPA 601607 LiBEHR = 60 20 0|2 =
PA 601608 EET 2 60 20 0|82 2
SPA 601609 SHRD 2 50 0 RS 5
PA 601611 FREZEE = 60 20 0|82 2
PA 601615 BEFRER 88 = 65 20 0|82 2
PA 601618 hEGE = 65 20 0|82 2
SPA 601619 B ree 2 60 20 0|2 =
PA 601628 FEAE = 65 20 0|82 2
SPA 601633 KISE 2 65 20 0|2 =
PA 601636 EEER = 60 20 0|82 2
SPA 601658 HBfiETRIT = 70 30 0|2 =
PA 601665 FEIRIT = 65 20 0|8 2
PA 601666 SEIERRAD = 60 20 0|8 2
PA 601668 hEZER = 70 30 0|8 2
PA 601669 hEFRE = 65 20 0|8 2
PA 601677 BEZ=ERM = 60 20 o|l2 2
FA 601678 SECER D 2 60 20 0|2 =
PA 601686 REREA = 50 0 O] ES &
PA 601688 RS 2 70 30 0|2 2
PA 601689 S SR = 70 30 0|8 2
PA 601696 RIS 2 60 20 0|8 2
PA 601698 FE L& 2 60 20 0|82 2
PA 601699 BLIEe = 60 20 0|8 2
SAA 601702 Holgsal 2 60 20 0|82 2
SAA 601717 RBIEH = 60 20 0|8 2
PA 601718 PreesEA = 60 20 0|82 2
PA 601727 Lig8s = 65 20 0|82 2
PA 601728 FERE = 70 30 0|2 2
FA 601766 hEpZE 2 70 30 0|2 2
A 601777 TERI = 0 0 0|2 =
A 601778 R = 60 20 0|2 =
PA 601788 PANIE= = 65 20 0|8 2
SAA 601789 TRET 2 60 20 0|2 =
PA 601798 B = 0 0 O] ES &
PA 601799 EFRID 2 65 20 0|2 =
FA 601800 hERE 2 65 20 0|2 2
PA 601801 &R = 50 0 0|82 2
A 601808 SRR = 60 20 0|2 =
PA 601811 R = 50 0 O] ES &
SPA 601816 FFEk = 70 30 0|8 2
SPA 601818 HRIRIT g 70 30 0|82 2
PA 601825 PRET = 65 30 0|2 2
PA 601827 ZIEIRE 2 50 0 ES S
PA 601838 FREBIRIT = 65 30 0|2 =
SPA 601857 FEAH 2 70 30 0|8 2
PA 601858 FERE = 50 0 0|2 =
PA 601860 KERT B 60 20 0|82 2
PA 601865 a3 2 60 20 0|8 2
PA 601866 RIER = 60 20 0|82 2
PA 601868 FERE 2 65 20 0|2 2
FA 601872 Brihn 2 65 20 0|2 =
SAA 601877 1FZ=FEE8 B 65 20 0|2 =

PUBLIC




PA 601878 HTEnES 2 65 20 0|8 2
FPA 601880 B = 60 20 0|2 =
PA 601881 FhER;E = 65 20 0|2 2
SPA 601882 ERREL 2 50 0 0|2 2
SPA 601886 iLUER 2 50 0 0|2 =
PA 601888 FEFR = 70 30 0|2 2
SPA 601890 T 20 = 60 20 0|2 =
SPA 601898 FiEEER 2 60 20 0|2 =
SPA 601899 EPd 2 70 50 0|2 =
PA 601900 FEHER = 60 20 0|82 2
SPA 601901 HIEIES = 65 20 0|8 2
SPA 601908 HiziE 2 50 0 0|2 =
PA 601916 HERIT = 70 30 0|2 2
SPA 601918 SRR 2 60 20 0|2 =
PA 601919 FRImEE = 70 30 0|2 2
PA 601921 HThRIEER = 50 0 MES 5
SPA 601928 RUE/EIE 2 60 20 0|2 =
A 601929 EUMEE 2 0 0 0|2 =
PA 601933 FKNERBTH = 0 0 0|2 2
SAA 601939 EBISIRIT 2 70 30 0|2 =
SAA 601949 hEHhR = 50 0 0|82 2
PA 601952 BERK = 60 20 0|82 2
SAA 601956 RINER = 50 0 S &
SAA 601958 Eoxiz|an) 2 60 20 0|2 =
SPA 601963 BKIRIT = 60 20 ] ES =
SAA 601965 ThESHT 2 60 20 0|82 2
SAA 601966 BIieha = 60 20 0|8 2
SAA 601968 Eiaks = 50 0 ES &
SAA 601969 aras Al 2 50 0 0|2 =
SAA 601975 YERIEE;H = 60 20 0|8 2
PA 601985 FREZER B 70 30 0|2 2
SAA 601988 FERIT = 70 30 0|2 2
SAA 601989 FEET 2 0 0 0|2 2
SAA 601990 e = 60 20 0|8 2
PA 601991 KEKE = 60 20 0|2 2
FA 601992 SIRER 2 0 0 0|2 2
PA 601995 FEAT = 65 20 0|2 2
A 601997 HPERIT = 60 20 0|2 =
PA 601998 PEIRIT = 65 20 0|2 2
SAA 601999 HARIEE = 50 0 0|2 =
SAA 603000 AEM 2 60 20 0|82 2
A 603001 BEEERR = 0 0 0|& =
FA 603002 RERT 2 50 0 S &
SAA 603005 BRI = 65 20 0|8 2
SAA 603008 =l 2 60 20 0|82 2
PA 603009 JbARIS = 60 20 VES &
PA 603010 Pat=didn) = 50 0 0|2 2
PA 603012 BIHEA = 50 0 0|2 =
SPA 603013 TWERRAD g 50 0 S &
SPA 603016 Hiage B 50 0 S &
PA 603017 FRERRT = 50 0 OES &
SPA 603018 IR EH = 60 20 0|8 2
PA 603019 RS 2 70 30 0|8 2
SPA 603020 EERD g 50 0 S &
PA 603022 FmBEE = 50 0 WS &
FA 603025 AERHY 2 50 0 0|2 =
FA 603026 AXRpELE = 0 0 0|2 =
PA 603027 FRER 2 60 20 0|2 2

PUBLIC




A 603029 KIBRRAD 2 50 0 ES =
A 603030 2R = 50 0 0|& B
A 603031 RER = 50 0 0|1& B
FA 603033 =HERRAD = 60 20 0|2 =
SPA 603035 HASm 2 60 20 0|8 2
FA 603037 BLARRRAD = 50 0 ES =
FA 603039 I = 60 20 0|2 =
FA 603040 AR = 50 0 ES B
PA 603041 EEE = 50 0 O ES &
FA 603043 T IER = 50 0 0|2 =
FA 603045 BLEE = 50 0 0|2 =
FA 603050 RHARS, = 50 0 0|2 =
FA 603051 RELLFR = 0 0 0|2 =
SPA 603052 A7) | Rl 2 50 0 RS 5
PA 603055 ] = 50 0 0|2 2
FA 603056 TEFRRRAD = 50 0 0|2 =
FA 603057 Bt = 50 0 ES B
PA 603058 KERD = 50 0 0|F =
PA 603060 Eslmec 3z = 50 0 ] ES =
PA 603061 158 = 50 0 0|1& B
FA 603062 ENEFE 2 50 0 0|2 =
PA 603063 KREEEES 2 60 20 0|8 2
PA 603065 TEITERE = 50 0 ] ES =
PA 603067 TREERRAD = 60 20 0|2 =
PA 603068 &R = 0 0 ES B
PA 603069 SRS = 0 0 0|2 =
PA 603071 YIFIRGE = 50 0 O] ES &
PA 603075 HUERARID = 50 0 0|2 =
PA 603076 REERR = 50 0 0|2 =
PA 603077 FFRE 2 60 20 0|8 2
PA 603078 TR 2 60 20 0|2 =
PA 603079 L&Y = 0 0 0|1& &
PA 603080 HaEKIE 2 50 0 S &
SAA 603081 Aol = 50 0 S &
SAA 603083 Pl S e = 60 20 0|8 2
PA 603085 KB 2 0 0 0|2 2
A 603086 SOIRRRAD 2 0 0 ES &
SAA 603087 Hzzlk = 60 20 0|82 2
PA 603088 TRAEIA 2 50 0 0|2 =
PA 603089 FRTAk 2 50 0 0|1& &
PA 603090 TREERRAD 2 50 0 0|1& &
FA 603093 REHEALY 2 50 0 S &
PA 603095 il 2 50 0 0|1& &
PA 603096 iz 2 50 0 I ES =
PA 603097 IR = 50 0 0|1& &
PA 603098 ) = 50 0 0|2 2
PA 603099 AL = 50 0 0|82 2
PA 603100 JISLBRAS B 60 20 0|8 2
PA 603102 Ei) B 50 0 S &
PA 603105 HRERHY = 50 0 0|2 =
PA 603108 EAET = 60 20 0|8 2
PA 603111 BRI 2 60 20 S &
FA 603112 HEFBRRAD = 50 0 0|& B
PA 603113 SRR = 0 0 0|2 =
PA 603115 BERD = 50 0 0|& &
PA 603116 AL B 50 0 0|& =
PA 603118 AR B 60 20 0|2 =
PA 603119 e = 60 20 0|2 2

PUBLIC




EA 603121 s 2 50 0 ES &
FPA 603125 HER = 50 0 0|2 =
FPA 603126 FRT58E = 50 0 0|2 =
PA 603127 RBITEES = 60 20 0|82 2
PA 603128 HEERYIR = 60 20 0|82 2
SPA 603129 E= I EIpal 2 60 20 0|2 =
SPA 603130 =hE 2 50 0 ES 5
SPA 603131 EEpT 2 0 0 RS 5
SPA 603132 SRR 2 50 0 RS 5
SPA 603135 hERNY 2 50 0 0|2 =
SPA 603136 XEi# 2 50 0 RS 5
SPA 603138 SRR 2 0 0 0|2 =
SPA 603150 o BRRLE 2 50 0 RS 5
PA 603155 s = 50 0 MES 5
PA 603156 FETCIRER = 60 20 0|82 2
SPA 603158 R = 50 0 RS 5
SPA 603160 TR 2 65 20 0|2 =
SAA 603162 BERE = 50 0 ES &
SPA 603165 SRR = 50 0 S &
SAA 603166 EARRAD = 50 0 0|1& &
SAA 603168 FEESE = 50 0 S &
SPA 603169 =REE 2 50 0 0|2 =
SAA 603170 EVER = 50 0 ES &
A 603171 RiRARD 2 50 0 0|2 =
SPA 603173 fBEmA = 50 0 ES &
SAA 603178 ER D = 50 0 0|2 =
SAA 603179 FERRID = 60 20 0|2 =
SAA 603180 SHRE = 50 0 ES &
SAA 603182 AR = 50 0 S &
PA 603183 PR = 50 0 ES &
PA 603185 BATCERRE = 60 20 0|2 =
SAA 603190 TiEET 2 50 0 0|1& =
PA 603191 BTSN = 50 0 0|82 2
SAA 603193 AR = 50 0 0|2 2
FA 603195 PNEER 2 60 20 0|2 2
PA 603196 BB = 0 0 O] ES &
A 603197 {REERHR = 60 20 0|2 =
SAA 603198 Ul ey = 60 20 0|2 =
SAA 603200 LSS = 50 0 0|1& =
A 603201 HiERn = 50 0 0|& &
SAA 603203 R = 50 0 S &
A 603206 BEIEHY = 50 0 0|& =
SAA 603208 TTLLIERR = 50 0 0|1& =
SAA 603209 SBARAD 2 50 0 0|1& =
PA 603211 BRI = 50 0 0|& &
SPA 603212 BEREA 2 50 0 0|8 2
PA 603213 EERE = 50 0 WS &
SPA 603214 Em= 2 50 0 S &
SPA 603215 EUARBR D g 50 0 0|1& =
PA 603217 ToREHR = 50 0 0|& &
SPA 603218 BB’ B 60 20 0|82 2
PA 603219 EERD = 50 0 0|& &
PA 603220 FIEE = 60 20 0|82 2
SPA 603225 RIS 2 60 20 0|8 2
SPA 603227 EIERIY 2 60 20 0|8 2
SAA 603228 SIFEF = 60 20 0|2 =
SAA 603230 e = 50 0 ES =
SAA 603231 EEEH B 50 0 0|2 =

PUBLIC




PA 603232 REIRER IS 2 50 0 ES 5
PA 603233 KB/ = 60 20 0|2 2
FPA 603235 Kirzalk = 50 0 RS 5
PA 603236 [E2mtaH = 65 20 0|8 2
SPA 603237 hEF 2 50 0 RS 5
SPA 603239 TS = 50 0 RS 5
SPA 603255 RpRE 2 50 0 ES 5
PA 603259 PHRARRE 2 70 30 0|2 2
PA 603260 SRR 2 60 20 0|2 2
SPA 603266 KB = 50 0 RS 5
SPA 603267 IBimE = 60 20 0|2 =
SPA 603275 AN = 50 0 0|2 =
SPA 603276 e ] = 50 0 0|2 =
PA 603277 SREBAR D = 50 0 MES 5
SPA 603278 KAl AgS = 50 0 RS 5
PA 603279 SR = 60 20 0|82 2
PA 603281 SLEETA = 60 20 ES 5
PA 603283 e = 60 20 0|8 2
PA 603288 ERMR 2 70 30 0|2 2
SAA 603289 Zehui28 2 50 0 S =
PA 603290 HMA¥S = 60 20 0|8 2
PA 603291 SIKE = 50 0 ES &
SAA 603296 HEEEA = 65 20 0|8 2
PA 603298 X EHR = 60 20 0|8 2
SPA 603299 BEhF 2 50 0 0|82 2
PA 603300 TERITEER = 65 20 0|8 2
PA 603301 REET 2 50 0 0|82 2
PA 603303 1SFREREE = 50 0 ES &
PA 603305 TEFERA = 60 20 0|8 2
PA 603306 R = 60 20 0|8 2
PA 603308 NEAAR D = 60 20 0|8 2
SAA 603309 HHETT 2 50 0 S &
A 603311 Edsiat = 50 0 0|& =
SAA 603313 2TES = 50 0 0|& &
SAA 603315 BRI = 50 0 S &
PA 603317 KKER = 60 20 0|82 2
SAA 603318 KBRS = 50 0 0|8 2
FA 603319 ERRRD 2 60 20 0|2 2
SAA 603320 HBIBS = 50 0 0|& &
FA 603321 HEiCEREE 2 50 0 S &
A 603322 BEE 2 0 0 0|& =
SAA 603323 BAIRIT 2 60 20 0|82 2
SAA 603324 BRI = 50 0 0|& =
SAA 603325 fERERA = 50 0 0|82 2
A 603327 BEER = 50 0 0|& =
SPA 603328 AKYRER 7 = 60 20 0|8 2
PA 603329 LBt B 50 0 0|2 2
PA 603330 KiEmt = 0 0 0|2 =
SPA 603331 BIAET g 50 0 WS &
PA 603336 IR = 50 0 WS &
PA 603337 ANTIRRD 2 60 20 S &
PA 603338 AR Ya) = 60 20 0|2 2
PA 603341 JeHERES = 50 0 0|2 =
PA 603344 EEH 2 50 0 ol 2
PA 603345 ZHAR 2 65 20 0|8 2
FA 603348 STHLRRAS 2 50 0 0|2 =
PA 603351 B/RZG 2 50 0 S &
PA 603353 FOlRa;H = 50 0 0|& &

PUBLIC




FA 603356 LT 2 0 0 S &
FA 603358 EIERI = 60 20 0|2 2
A 603359 FIRES = 0 0 RS 5
PA 603360 B = 60 20 ]S =
FA 603365 KERY 2 50 0 RS 5
FA 603366 BHHES = 50 0 RS 5
SPA 603367 fRRRZS Al 2 50 0 ES 5
PA 603368 IESESE = 60 20 0|8 2
PA 603369 Stz 2 65 20 0|82 2
SPA 603378 TtolgE 2 50 0 RS 5
SPA 603379 =R 2 60 20 0|2 =
PA 603380 SER = 50 0 S &
FA 603383 TReaR = 60 20 0|2 =
FA 603385 SO NIENS = 0 0 RS 5
PA 603387 HEEY 2 50 0 0|2 2
SPA 603392 BE=EY = 65 20 0|2 =
FA 603393 AR 2 60 20 0|2 =
SAA 603396 SRR = 50 0 0|82 2
PA 603408 ERERE = 50 0 S &
SAA 603416 (SRS 2 60 20 0|8 2
A 603421 SREEH 2 50 0 ES &
SPA 603429 SERED = 50 0 0|82 2
SAA 603439 =M=h 2 50 0 S &
A 603444 EEAE £ 60 20 0= =
PA 603456 Lzl g 60 20 0|2 =
SAA 603458 Bnig AR 2 50 0 ES &
SAA 603466 KIBHR = 50 0 0|2 =
SAA 603477 BERK 2 60 20 0|2 =
PA 603486 RLKER = 60 20 0|8 2
PA 603489 I\T5REAS = 50 0 0|2 =
FA 603496 [EVSIEs 2 60 20 0|2 =
FA 603501 EAIN: 2r) 2 70 30 0|2 2
PA 603505 SRER = 60 20 0|8 2
PA 603507 RIS = 50 0 0|2 =
PA 603508 Bz 2 50 0 0|2 =
PA 603511 EER D = 50 0 O] ES &
PA 603515 Y=Lz 2 50 0 0|2 2
FA 603516 PRI = 0 0 0|1& =
PA 603517 al NG = 60 20 0|82 2
PA 603518 FRiBAEA = 50 0 ES &
A 603527 INE ] = 50 0 0|2 =
SAA 603529 SR = 60 20 0|8 2
PA 603530 HEEH 2 50 0 0|2 2
SAA 603533 EFRE = 60 20 0|& =
PA 603538 e = 50 0 0|82 2
PA 603551 BRERE = 50 0 0|& &
PA 603556 EME N g 60 20 0|2 2
SPA 603558 {REER = 50 0 ES =
PA 603565 R AR 2 60 20 0|8 2
PA 603567 EE3 = 50 0 0|2 2
PA 603568 EREIMR 2 60 20 0|8 2
PA 603569 K205 2 50 0 S &
SPA 603578 =2 B 50 0 0|1& =
PA 603580 XL B 0 0 OES &
PA 603583 HEEWRGN = 60 20 0|82 2
PA 603585 agillitan) = 50 0 VES &
PA 603587 AT = 50 0 ES =
PA 603588 SRS 2 60 20 0|2 2

PUBLIC




A 603589 me = 60 20 0|2 =
A 603590 BRI 2 50 0 0|& B
A 603595 KT = 0 0 0|1& B
FA 603596 stz 2 65 20 0|2 =
PA 603599 IS = 60 20 0|82 2
FA 603600 KERRAD 2 50 0 ES =
PA 603605 A3 = 65 20 0|8 2
FA 603606 IRJTEEE = 65 20 0|2 =
FA 603610 BHERI 2 50 0 ES =
FA 603612 REKE = 0 0 0|2 =
PA 603613 EBARRD 2 60 20 0|8 2
FA 603618 HUERRRAD = 50 0 0|2 =
PA 603619 hEAiH 2 60 20 0|8 2
FA 603628 SRR 2 50 0 0|2 =
FA 603630 AR = 50 0 ES =
FA 603633 RABR D = 50 0 ES B
PA 603636 R 2 60 20 0|8 2
FA 603637 B 2 50 0 S B
PA 603638 HFER 2 60 20 0|2 =
PA 603639 FERI/R = 50 0 0|2 =
PA 603650 Sz Ee ] 2 60 20 0|8 2
FA 603657 BRI 2 50 0 S B
PA 603658 REEY 2 60 20 0|8 2
PA 603659 Bk 2 65 20 0|8 2
PA 603660 HINREA = 0 0 0|2 =
PA 603662 I ERk 2 60 20 0|8 2
PA 603663 =FEEi 2 60 20 0|2 =
PA 603667 RS 2 60 20 0|2 =
PA 603668 RERHY = 0 0 0|2 =
PA 603669 REEZA 2 0 0 ES =
PA 603676 DIEE 2 50 0 S B
PA 603677 EFRENR = 50 0 0|& &
PA 603678 KIEERF £ 60 20 0|2 =
PA 603680 SeIER = 50 0 0|& =
FA 603681 bt 2 50 0 0|2 =
FA 603683 R 2 50 0 0|& &
FA 603687 AMEA £ 50 0 0|& &
PA 603688 AERAD 2 60 20 0|8 2
PA 603689 RIS = 50 0 0|& &
PA 603690 AR = 60 20 0|2 =
PA 603696 RIcE MW = 50 0 0|8 2
FA 603697 BRER [ 50 0 S &
PA 603698 N 2 50 0 0|2 =
PA 603699 ARy £ 60 20 0|2 =
SAA 603700 TIKERA = 50 0 0|& =
A 603701 ERERGD £ 50 0 0|& B
PA 603706 AT B 50 0 ES &
PA 603707 R £ 0 0 0|2 =
FA 603708 KR [ 50 0 0|8 2
PA 603711 FENE, [ 50 0 S &
PA 603712 +—= [ 60 20 0|82 [
SPA 603713 IR g 60 20 0|82 2
PA 603722 LA [ 50 0 S &
PA 603727 EIER [ 50 0 0|8 2
PA 603728 Me5EE 88 B 60 20 0|2 =
FA 603733 lESRZAS £ 50 0 0|2 =
PA 603737 =i £ 60 20 0|8 2
PA 603738 TR = 60 20 0|8 2

PUBLIC




FA 603755 H=RERAD = 50 0 MES )
PA 603758 ESzaiin) = 50 0 0|2 2
FPA 603759 ERARD = 50 0 RS 5
PA 603766 [EZIER = 60 20 0|82 2
PA 603767 &R = 50 0 O]ES &
SPA 603776 XEAT 2 0 0 0|2 =
SPA 603778 EFRHR = 0 0 ES 5
PA 603786 RHEIX = 60 20 0|82 2
SPA 603787 FERSD 2 50 0 RS 5
SPA 603788 TEER = 50 0 RS 5
SPA 603790 iR 2 50 0 RS 5
SPA 603797 EAZ=IMAR 2 50 0 RS 5
SPA 603799 LRl 2 70 30 0|2 2
SPA 603800 Piata]iars) = 50 0 0|2 =
SPA 603801 SHRE 2 50 0 RS 5
SPA 603806 B 2 60 20 0|2 =
SPA 603808 FTHE = 50 0 RS 5
SAA 603809 B ) = 60 20 ES &
PA 603811 mEZl g 50 0 OES &
SAA 603816 RRRE = 60 20 0|8 2
SAA 603817 IR 2 50 0 ES &
PA 603818 ExRE = 0 0 OES &
SAA 603819 evalian) = 50 0 S &
PA 603822 BRI = 0 0 ES B
HA 603826 R 2 50 0 0|2 =
SAA 603833 R E = 60 20 0|2 =
PA 603836 BTEIBIA 2 50 0 ES &
SAA 603855 HERBRAD = 60 20 ES &
SAA 603856 AN An) = 50 0 ES &
SAA 603858 HEFIS = 60 20 0|2 =
SAA 603859 BERIRl = 60 20 ES &
PA 603860 SR = 50 0 S &
FA 603861 =PGRS 2 50 0 0|1& =
SAA 603866 WEZEmEE = 50 0 0|2 =
PA 603867 Eiladdn) = 50 0 0|2 2
FA 603871 ERER = 60 20 0|82 2
A 603876 SRR = 60 20 0|2 =
FA 603877 AXFE 2 50 0 0|2 2
SAA 603878 HEARE = 50 0 0|1& =
FA 603881 s 2 60 20 0|2 2
PA 603882 SHRESF = 60 20 0|82 2
SAA 603883 ZEH 2 60 20 0|2 =
SAA 603885 EEME = 60 20 0|2 =
PA 603886 TCHEARD = 50 0 0|1& =
SAA 603888 R 2 60 20 0|2 =
SPA 603889 LR g 50 0 S &
PA 603890 EWEBF 2 50 0 0|8 2
SPA 603893 Tl = 0 0 0|82 2
PA 603896 H&E = 50 0 OES &
PA 603897 IR = 50 0 0|2 =
PA 603898 TEE = 50 0 OES &
SPA 603899 B g 60 20 0|82 2
PA 603901 KBIERE = 50 0 0|& B
PA 603903 FRIERRD = 50 0 OES &
PA 603906 JOIERIS = 0 0 0|2 =
PA 603908 =1 2 50 0 0|2 2
PA 603909 ERE = 50 0 O] ES &
PA 603915 ERRD = 60 20 0|2 2

PUBLIC




PA 603916 DS 2 50 0 0|2 =
FPA 603917 [=PALSEs = 50 0 RS 5
FPA 603918 EHER 2 60 20 RS 5
SPA 603919 SEE 2 50 0 0|2 =
SPA 603920 tHizE R = 60 20 0|2 =
PA 603922 Eoc) I = 0 0 MES &
PA 603927 FhRHR = 60 20 0|8 2
SPA 603928 |yl = 50 0 RS 5
SPA 603929 TEPEERY, = 50 0 RS 5
SPA 603931 IERA 2 50 0 RS 5
PA 603936 B G 2 0 0 0|2 2
SPA 603938 ) 2 50 0 0|82 2
SPA 603939 EFLE 2 65 20 0|8 2
SPA 603948 g2l AR = 50 0 RS 5
SPA 603950 KBRS = 50 0 RS 5
FA 603956 BTRIG = 50 0 RS 5
SPA 603968 [ dan) = 50 0 RS 5
PA 603969 SRR = 50 0 0|2 =
SPA 603970 FRi I 2 50 0 S =
SAA 603976 1E) | IB& = 50 0 S =
SAA 603979 SIS 2 65 20 0|2 =
SPA 603983 FLEEY 2 50 0 S &
PA 603985 =N ) 2 0 0 0|2 =
PA 603986 Jk BT 2 0 0 0|82 2
SPA 603987 B = 50 0 S =
PA 603989 AR = 50 0 0|82 2
PA 603990 R = 0 0 0|2 =
SAA 603991 EIERID 2 0 0 S =
FA 603992 AFREHR 2 50 0 ES &
PA 603993 FEPREMY 2 70 30 0|2 2
SAA 603995 BEkin 2 60 20 0|8 2
SAA 603997 HRIERRAD = 0 0 0|2 =
SAA 603999 EEER = 50 0 0|& =
FA 605001 BRERARAD = 50 0 S &
SAA 605005 [=padsv = 50 0 S &
PA 605007 TSR 2 50 0 S &
SAA 605008 KiISER = 50 0 0|& =
SAA 605009 P 2 50 0 S &
A 605011 TR 2 50 0 0|2 =
PA 605016 BxolE = 50 0 ES &
SAA 605020 FKAORRAD = 60 20 0|82 2
SAA 605050 EE 2 50 0 S &
PA 605056 BEERR = 50 0 ES &
A 605058 JRSARRF 2 50 0 0|& =
A 605060 BAER D = 50 0 0|& =
PA 605066 KIEEES = 50 0 OES &
PA 605077 RN = 50 0 o|l& &
PA 605080 GRS = 50 0 ES &
PA 605086 AT = 50 0 VES &
PA 605088 EERGD = 60 20 OES &
SPA 605089 LRANS 2 50 0 ES &
PA 605090 JLEBER = 60 20 o2 2
PA 605098 T E = 50 0 WS &
PA 605099 HOIELT 2 50 0 ES &
PA 605100 HEERD = 50 0 OES &
PA 605108 R 2 50 0 ES S
PA 605111 FEee = 60 20 0|2 2
SAA 605116 B = 50 0 W ES &

PUBLIC




FA 605117 ad) 2 65 20 0|2 =
FPA 605118 TR = 50 0 RS 5
FPA 605123 RS = 50 0 0|2 =
SPA 605128 LiEhE = 50 0 ES 5
FA 605133 IFZ=RRAD 2 50 0 RS 5
SPA 605136 AR 2 0 0 RS 5
PA 605155 [N = 50 0 MES 5
PA 605158 LR = 50 0 MES 5
SPA 605166 R&ln 2 50 0 RS 5
PA 605167 ltiskss = 50 0 MES 5
SPA 605168 =A1T 2 50 0 0|82 2
PA 605177 Rl = 50 0 MBS &
PA 605179 —IBE 5 = 0 0 MBS &
SPA 605183 TRRARID = 50 0 RS 5
SPA 605186 REEER 2 50 0 0|1& 5
SPA 605196 B 2 60 20 RS 5
SPA 605198 L= = 50 0 RS 5
SAA 605199 IHEE = 50 0 S =
SPA 605208 XK= = 50 0 0|82 2
SAA 605222 FACIRERL = 50 0 0|1& &
FPA 605228 HIER 2 50 0 ES &
PA 605258 hFIERF B 50 0 OES &
FA 605259 SSE = 50 0 ES &
SAA 605266 e 2 50 0 S &
PA 605277 VR F 2 50 0 ES &
PA 605286 Epal=Eas = 50 0 OES &
A 605287 EARD 2 50 0 ES &
PA 605296 HRER = 0 0 OES &
FA 605298 WIERIE = 50 0 ES &
PA 605299 FERE = 50 0 O] ES &
SAA 605305 FRREES = 50 0 0|82 2
A 605318 SEIm = 50 0 0|& =
PA 605319 TR = 50 0 W ES &
A 605333 PSRRI = 50 0 0|& &
SAA 605336 JESEES = 50 0 S &
FA 605337 EFH 2 50 0 ES &
SAA 605338 BthtE&R = 50 0 0|& =
FA 605339 BRAaR 2 50 0 ES &
SAA 605358 ST 2 60 20 0|82 2
SAA 605365 SIAE = 50 0 0|1& =
A 605366 skl = 50 0 0|2 =
SAA 605368 HERRS = 50 0 0|& =
SAA 605369 WRET 2 50 0 W ES &
A 605376 BT = 0 0 0|2 =
PA 605377 SRR = 50 0 O] ES &
PA 605378 B B 50 0 0|& =
PA 605388 IOEGERR = 50 0 WS &
SPA 605389 KSR IE g 50 0 S &
PA 605488 1B = 60 20 OES &
PA 605499 RMSTREL = 65 20 0|82 2
PA 605507 EfPED g 60 20 WS =
PA 605555 EERD = 50 0 VES &
PA 605566 BT = 50 0 WS &
SPA 605580 1EESEETR = 50 0 WS &
PA 605588 TaRE = 50 0 VES &
PA 605589 ZREA = 65 20 0|82 2
PA 605598 B8 2 50 0 VES &
SAA 605599 =) 2 50 0 S &

PUBLIC




RA 000001 SERIT 2 70 30 0|2 =
A 000008 M = 0 0 0|2 =
RA 000009 FEER 2 60 20 0|8 2
RA 000010 EMES = 0 0 S &
RA 000012 B A 2 60 20 0|2 2
RA 000016 REHEA 2 0 0 0|2 =
RA 000019 RIS 2 50 0 ES 5
RA 000021 R = 65 20 0|2 =
RA 000026 KA 2 50 0 RS 5
RA 000027 RYeR = 60 20 0|2 =
RA 000028 EZH—E = 60 20 0|8 2
RA 000030 EEE D = 50 0 0|82 2
RA 000032 REIRA 2 60 20 0|2 =
RA 000034 TN EED 2 65 20 0|2 =
RA 000035 FEXE = 60 20 0|2 =
RA 000039 HREEEEA = 60 20 0|8 2
RA 000049 fEZREh 2 60 20 0|2 =
RA 000050 RRSA 2 0 0 0|2 2
RA 000059 e ) 2 60 20 0|8 2
RA 000060 h2il4E 2 60 20 0|8 2
RA 000061 Ve ln = 50 0 0|2 =
RA 000062 =] 2 60 20 0|8 2
RA 000063 SEEH, = 70 30 0|2 =
RA 000065 175 ERR = 60 20 0|2 =
RA 000066 hEK = 0 0 0|2 =
RA 000068 TG = 50 0 S &
RA 000078 EEEY 2 0 0 0|2 2
RA 000088 thHB 2 50 0 0|2 =
RA 000089 w37 2 60 20 0|8 2
RA 000090 KiEER = 60 20 0|8 2
RA 000099 HEEE = 60 20 0|8 2
wA 000100 TCLRMY 2 70 30 0|2 2
RA 000155 JIIgEEn A = 60 20 0|2 =
wA 000156 e 2 60 20 0|2 2
wA 000157 chEtEER 2 65 20 0|2 2
RA 000158 FHLL1keE 2 0 0 0|2 2
RA 000166 BB ZIR = 65 20 0|2 2
RA 000301 iy ape il = 65 20 0|82 2
RA 000333 EHEA = 70 50 0|82 2
RA 000338 TN = 70 30 0|2 2
RA 000400 YRR = 65 20 0|82 2
wA 000401 HERKR = 0 0 0|2 2
RA 000403 TRMEEYD = 60 20 0|2 2
RA 000407 BEFURRAD = 50 0 0|1& =
RA 000408 AR 2 65 20 0|82 2
RA 000409 =HRHR = 60 20 WS &
RA 000410 VCBEHLER = 0 0 0|2 =
RA 000411 B 2 50 0 ES &
RA 000415 et E = 60 20 0|2 =
RA 000417 SEEHR 2 50 0 0|2 2
EA 000419 BFEIEAR = 50 0 OES &
RA 000420 ST = 60 20 0|82 2
RA 000421 [N 2 0 0 ES &
RA 000422 HALEL = 60 20 0|2 2
EA 000423 IRPIpaT s = 65 20 0|82 2
RA 000425 RIH = 70 30 0|82 2
RA 000426 VR = 60 20 0|8 2
RA 000429 BEEA 2 60 20 0|2 2

PUBLIC




RA 000430 KRR 2 0 0 ES 5
RA 000501 HEH = 50 0 0|2 =
A 000503 EFriEE = 0 0 0|2 =
RA 000505 SRR’ = 50 0 0|2 =
RA 000510 g 2 0 0 RS 5
RA 000513 AREkEER 2 60 20 0|8 2
RA 000516 EfRES 2 0 0 0|2 =
RA 000520 REfnz = 0 0 RS 5
RA 000521 PSAESS = 60 20 0|82 2
RA 000523 AL ) = 50 0 RS 5
RA 000524 IR = 50 0 0|2 2
RA 000526 FREE 2 60 20 RS 5
RA 000528 W T 2 65 20 0|2 2
RA 000529 I 5h3ERR 2 50 0 RS 5
RA 000532 HEER 2 50 0 S &
RA 000536 HEmRlE = 0 0 0|2 =
RA 000538 =A% = 70 30 0|2 =
RA 000543 fERErR = 60 20 0|82 2
RA 000544 HRIAME = 50 0 0|82 2
RA 000545 il g 0 0 0|2 =
RA 000546 SERD = 0 0 ES &
RA 000547 InKERE = 0 0 0|2 =
RA 000548 HRFIRE = 50 0 OES &
RA 000550 IRISE = 60 20 0|2 =
RA 000551 BlrTRHY = 50 0 0|2 =
RA 000552 HiRget = 60 20 0|8 2
RA 000553 TIEEA 2 0 0 0|2 2
RA 000555 HMMEE 2 60 20 0|2 2
RA 000557 FEEREll 2 50 0 0|2 2
RA 000559 BEEkE = 60 20 0|82 2
RA 000561 YEKEF = 50 0 S &
wA 000563 FREG A 2 60 20 0|2 2
RA 000564 RS = 0 0 0|2 =
RA 000566 e = 0 0 0|2 =
wA 000567 SRR = 50 0 0|2 =
RA 000568 ENEE = 70 30 0|82 2
RA 000572 BERE = 0 0 0|2 =
RA 000576 HHRET 2 0 0 ES &
wA 000581 BEER 2 60 20 0|2 2
wA 000582 tEREE = 60 20 0|2 =
RA 000586 CREE = 0 0 0|1& =
wA 000589 EINERE = 60 20 0|2 =
RA 000590 |=tEsNI = 0 0 O ES &
wA 000591 ABHARE 2 60 20 0|2 2
wA 000592 EERRE 2 0 0 0|2 2
wA 000596 HHEH 2 65 20 0|8 2
RA 000598 MNESIRE 2 60 20 0|8 2
RA 000599 EEWNE = 0 0 OES &
RA 000601 BREERRID = 0 0 0|2 =
RA 000603 BIARE 2 60 20 0|8 2
RA 000607 HERAS = 50 0 0|2 =
wA 000612 SIERA 2 60 20 0|8 2
wA 000617 N 2 60 20 0|8 2
RA 000623 EMBUR = 60 20 0|2 2
RA 000625 KL5E = 70 30 0|82 2
RA 000626 AR = 0 0 O] ES &
wA 000627 KR 2 0 0 0|2 2
RA 000629 FLERRRID 2 60 20 0|2 =

PUBLIC




RA 000630 e E = 65 20 0|2 =
RA 000636 Xteart = 60 20 0|8 2
A 000639 HEAmR = 0 0 0|2 =
RA 000650 =Rzl 2 60 20 0|2 =
RA 000651 & IFEEE = 70 50 0|2 2
RA 000652 ZRIRRRAD 2 60 20 0|2 =
RA 000655 Eol g 1A 2 50 0 0|2 =
RA 000657 hSEH = 60 20 0|8 2
RA 000659 KETE 2 0 0 RS 5
RA 000661 KEDN 2 65 20 0|2 =
RA 000663 FKEHRl 2 50 0 RS 5
RA 000665 LT ER 2 0 0 0|2 =
RA 000670 B 2 0 0 RS 5
RA 000672 g = 50 0 0|2 =
RA 000676 HEERD = 60 20 0|8 2
RA 000678 Rl S 2 0 0 0|2 =
RA 000680 LLFERR D = 60 20 0|8 2
RA 000681 M FE = 60 20 0|8 2
RA 000682 RGERF 2 60 20 0|8 2
RA 000683 TMEETR = 60 20 0|2 =
RA 000685 e TIZN:=2] = 60 20 0|8 2
RA 000686 FALIES 2 60 20 0|2 =
RA 000690 S = 60 20 0|2 =
RA 000692 BRI 2 50 0 ES &
RA 000697 FAnE 2 0 0 ES &
RA 000700 TREERI 2 60 20 0|2 =
RA 000703 EiRat = 60 20 0|8 2
RA 000705 mIETT 2 50 0 S &
RA 000707 TEREH 2 50 0 0|2 =
RA 000708 EFN = 60 20 0|82 2
RA 000709 SATERARAL = 60 20 0|2 =
RA 000712 ) dian) = 0 0 0|2 2
RA 000713 ERFE 2 50 0 0|82 2
RA 000716 BT = 50 0 0|2 2
RA 000717 RIS = 50 0 0|2 2
RA 000722 AR 2 50 0 0|2 2
RA 000723 S = 60 20 0|2 =
RA 000725 A A 2 70 30 0|2 2
RA 000726 2 &HA 2 50 0 0|2 2
RA 000727 TR = 60 20 ES &
RA 000728 ETTiEs = 65 20 0|8 2
RA 000729 E=Cg b 2 60 20 0|2 2
wA 000731 LE=ES = 50 0 0|8 2
RA 000733 IREERMS = 65 20 0|2 =
RA 000735 B4 2 0 0 0|2 2
RA 000737 g | gk = 60 20 0|2 2
A 000738 ITYg sl = 60 20 0|2 =
RA 000739 gl = 60 20 0|82 2
RA 000750 ESiEs = 60 20 0|82 2
RA 000751 R = 50 0 OES &
RA 000753 ENERE = 50 0 WS &
RA 000756 bl Po] g 60 20 0|82 2
RA 000757 TSR D = 0 0 0|& &
RA 000758 RN = 60 20 0|2 2
RA 000762 FomRs = 60 20 0|2 2
RA 000766 BE3 B 0 0 0|2 2
wA 000767 Eeralzcly 2 0 0 0|2 2
RA 000768 ERFE € 2 65 20 0|2 2

PUBLIC




RA 000776 I RIS = 70 30 0|2 =
RA 000777 Rz = 60 20 0|82 2
RA 000778 HEEE 2 60 20 0|2 =
A 000782 JEEE R 2 0 0 ES 5
RA 000783 K TS = 65 20 0|2 =
RA 000785 BARER = 60 20 0|8 2
RA 000786 1t 2 65 20 0|2 =
RA 000788 IEKEH = 50 0 RS 5
RA 000789 BESs = 50 0 0|2 2
RA 000790 Rl = 50 0 0|2 =
RA 000792 ERARR D = 70 30 0|2 =
RA 000795 TR = 60 20 0|82 2
RA 000796 Bl 2 50 0 RS 5
RA 000799 EEE = 60 20 0|82 2
RA 000800 —SRRRL = 60 20 0|2 =
RA 000801 PgFLM = 60 20 0|2 =
RA 000802 b=, 2 0 0 RS 5
RA 000803 LI=ERaE = 0 0 ES &
wA 000807 =B = 65 20 0|8 2
RA 000810 BIHERT 2 60 20 0|2 =
wA 000811 KR = 60 20 0|2 =
EA 000812 Sy 2 50 0 0|82 2
EA 000815 ER= = 0 0 0|82 2
EA 000816 gER 2 0 0 0|2 2
RA 000818 ARl = 60 20 0|2 =
EA 000819 PR = 50 0 0|82 2
RA 000821 R, = 60 20 0|8 2
wA 000822 WIZRE 2 50 0 0|2 =
RA 000823 BEET 2 60 20 0|2 =
RA 000825 KINAE = 0 0 0|2 =
EA 000830 EFHKT 2 60 20 0|82 2
EA 000831 FERLT 2 65 20 0|82 2
EA 000833 BRERRAD 2 60 20 W ES &
wA 000837 EINGIES = 60 20 0|8 2
wA 000839 PEEZR 2 0 0 S &
RA 000848 EEEE = 60 20 0|82 2
RA 000852 A = 50 0 0|2 =
RA 000858 RR&K = 70 50 0|82 2
EA 000860 IR = 0 0 0|2 =
EA 000862 REBER = 50 0 0|& =
wA 000868 RYEE 2 0 0 0|2 2
RA 000869 K BA = 50 0 0|2 =
RA 000875 Eeis=litdn) = 60 20 0|2 2
RA 000876 bk = 65 20 0|82 2
wA 000877 KLLBED = 0 0 0|2 =
RA 000878 =tk g 65 20 0|82 2
EA 000880 HELCERH = 60 20 ES =
RA 000881 R = 0 0 0|& &
RA 000883 HLBETR = 60 20 0|2 =
EA 000885 HAINES 2 50 0 0|2 2
RA 000887 FRIRARD = 65 20 0|2 2
wA 000888 IEELWL A 2 60 20 0|8 2
RA 000890 AIRBE = 50 0 OES &
RA 000893 TRERR B 60 20 0|2 =
RA 000895 WL = 65 20 0|82 2
EA 000898 MR 2 0 0 0|2 =
RA 000899 EERERRD = 50 0 0|2 =
wA 000900 IR 2 50 0 0|2 2

PUBLIC




RA 000901 ARRRIE = 0 0 0|2 =
RA 000902 WOEE = 60 20 0|2 =
A 000903 =AW = 0 0 0|2 =
RA 000905 BiEs = 50 0 0|2 =
RA 000906 il laneia] = 50 0 ES B
RA 000910 ATES = 50 0 0|2 =
RA 000911 JARAE 2 50 0 ES B
RA 000912 PR = 60 20 0|82 2
RA 000913 1T = 60 20 0|2 =
RA 000915 AR = 60 20 0|8 2
RA 000917 i = 60 20 0|2 =
RA 000920 RIRIEE = 50 0 ES =
RA 000921 HERB = 60 20 0|2 =
RA 000922 EE=R = 60 20 0|2 =
RA 000923 SAIEETR = 60 20 0|2 =
RA 000925 RERE = 60 20 ]S =
RA 000927 FE%Y 2 50 0 0|82 2
RA 000928 PNERR = 60 20 0|8 2
EA 000930 PRRREIS = 0 0 0|2 =
RA 000932 RN 2 65 20 0|8 2
EA 000933 KRR = 65 20 0|2 =
EA 000935 e 2 60 20 0|2 =
EA 000936 HEFERRAD = 60 20 0|2 =
EA 000937 ok = 60 20 0|8 2
EA 000938 BRRRAD = 70 30 0|2 =
EA 000948 BEXER 2 60 20 0|2 2
RA 000949 FEAefan 2 60 20 ES &
EA 000950 B = 50 0 0|2 =
EA 000951 FEES = 60 20 0|8 2
EA 000952 Tl 2 0 0 ES B
RA 000955 FRIIERE = 0 0 ES &
wA 000957 hEEE 2 60 20 0|2 2
RA 000958 EEIST R = 60 20 0|2 =
RA 000959 L) = 60 20 0|2 2
EA 000960 Bl RS 2 60 20 0|2 =
EA 000962 irysE:=NIg 2 60 20 0|& =
RA 000963 HEREY = 65 20 0|2 2
EA 000966 PNz 2 60 20 0|2 =
EA 000967 RIS 2 60 20 0|2 2
RA 000968 TEIEIERS = 50 0 0|2 =
EA 000969 LRI = 60 20 0|8 2
EA 000970 PRI =31 2 0 0 0|2 2
RA 000973 BRI = 60 20 0|2 =
EA 000975 LIEERR 2 65 20 0|2 =
wA 000977 SEERER 2 65 20 0|2 2
RA 000978 FEMRBRIE B 50 0 0|& B
RA 000980 RIESE g 0 0 0|2 =
RA 000981 FER = 0 0 0|& &
wA 000983 L FEEERE 2 60 20 0|8 2
RA 000987 AN = 60 20 o2 2
RA 000988 LITREY = 65 20 o2 2
RA 000990 SRR D = 60 20 0|2 2
RA 000997 K b = 65 20 o2 2
wA 000998 TR 2 60 20 0|8 2
EA 000999 EE=h B 65 20 0|8 2
EA 001201 ERERRRID 2 0 0 S &
RA 001203 Al 2 50 0 S &
RA 001205 ) = 50 0 ES &

PUBLIC




RA 001206 RIKBR (D = 50 0 ES 5
RA 001207 BERIRS = 50 0 RS 5
RA 001208 R = 50 0 RS 5
RA 001212 TR = 50 0 MES 5
RA 001213 Rk = 50 0 MES 5
RA 001215 FERRE = 50 0 MES &
RA 001218 etk 2 50 0 MES 5
RA 001219 528 = 50 0 MES 5
RA 001222 R KB = 50 0 MES &
RA 001223 EUre Rl = 50 0 MES 5
RA 001227 =MIRTT = 60 20 MBS &
RA 001228 kZRIE 2 50 0 RS 5
RA 001230 RIS 2 50 0 MES 5
RA 001236 SAVEBER = 0 0 RS 5
RA 001256 FERIRH: = 50 0 MES &
RA 001258 SEREGTR = 50 0 RS 5
RA 001267 CEES 2 50 0 RS 5
RA 001269 EREERIS = 50 0 ES &
RA 001282 =BRERIE = 50 0 0|2 2
RA 001283 SRl = 50 0 0|1& &
RA 001286 FEFRRETR = 60 20 0|82 2
RA 001287 FRER 2 60 20 0|8 2
RA 001288 =EER = 50 0 OES &
RA 001289 JIREB N = 50 0 0|2 2
RA 001296 K ThaRt = 50 0 S &
RA 001301 AR = 60 20 ES &
RA 001306 EEEE = 50 0 0|82 2
RA 001308 EEaRl = 50 0 ES &
RA 001309 =REF 2 0 0 0|82 2
RA 001311 SR 2 50 0 ES &
RA 001313 BiiE = 50 0 ES &
RA 001314 A EIHS = 50 0 0|& &
RA 001318 PRy 2 50 0 S &
RA 001322 SRR 2 50 0 ES &
RA 001323 R = 50 0 S &
A 001324 KERHY = 50 0 0|2 =
RA 001330 jEEaEA 2 0 0 S &
wA 001332 SRAERRS 2 50 0 ES &
wA 001337 m)IES 2 50 0 0|2 2
RA 001338 S = 50 0 ES &
wA 001339 BiESae = 0 0 0|& =
RA 001359 T T 2 50 0 0|2 2
RA 001380 HERIR = 50 0 0|2 =
RA 001696 RN = 65 20 0|2 2
RA 001872 BErsa 2 50 0 0|2 2
RA 001965 BRI = 65 20 0|82 2
RA 002001 # F0 Bk = 65 20 0|8 2
RA 002003 FEERD g 60 20 0|82 2
wA 002004 IR 2 60 20 0|8 2
RA 002006 fa LRHY = 60 20 0|2 =
RA 002007 A o) = 65 20 0|8 2
RA 002008 PN o = 65 20 0|8 2
A 002009 KD = 0 0 0|2 =
RA 002010 BV EER = 60 20 0|2 =
RA 002011 RIS 2 60 20 0|8 2
RA 002012 SLERRAD = 0 0 0|& =
RA 002014 KD = 50 0 0|& &
RA 002015 thEzaekt = 60 20 0|2 =

PUBLIC




RA 002019 {ZINER 2 0 0 0|2 =
RA 002020 Tzl = 60 20 0|2 =
RA 002021 FREER = 50 0 RS 5
RA 002023 S 2 60 20 0|2 =
RA 002025 PN = 65 20 0|2 =
RA 002027 DRIER = 70 30 0|2 2
RA 002028 BRHRS = 65 20 0|2 =
RA 002029 + IR 2 50 0 0|2 =
RA 002030 KLER 2 60 20 0|2 =
RA 002031 B ERE = 0 0 0|2 2
RA 002032 7 B /R = 60 20 0|8 2
RA 002033 AE LRRAD 2 50 0 0|82 2
RA 002034 AEBEIRE 2 50 0 0|2 =
RA 002035 KRR 2 60 20 0|2 =
RA 002036 BEBIER T 2 0 0 0|2 =
RA 002038 EEZG I 2 60 20 0|2 =
RA 002039 R 2 50 0 0|2 =
RA 002040 RS = 50 0 S &
RA 002041 il 2 60 20 0|82 2
RA 002042 2R = 60 20 0|8 2
EA 002043 REE 2 60 20 0|8 2
EA 002044 SRR = 65 20 0|8 2
EA 002045 Ey¢Eaes 2 60 20 0|8 2
EA 002046 EUET 2 60 20 0|82 2
RA 002047 EERRAD 2 0 0 0|2 =
EA 002048 TR = 60 20 0|2 =
RA 002049 EER = 70 30 0|2 =
EA 002050 =feEE 2 70 30 0|2 =
RA 002051 T ERR 2 60 20 0|8 2
EA 002053 =ERR = 50 0 0|2 =
EA 002054 =T 2 50 0 0|2 2
RA 002056 EIERA = 60 20 0|2 2
EA 002057 FNKIR = 60 20 0|8 2
EA 002060 I iRET 2 50 0 0|2 2
RA 002061 IRl = 60 20 0|82 2
EA 002063 R 2 60 20 0|2 =
RA 002064 g = 60 20 0|2 2
RA 002065 IREEER G = 65 20 0|2 =
EA 002068 BIERRAD = 0 0 0|2 =
EA 002069 B7B 2 0 0 S &
wA 002072 b 2 0 0 S &
RA 002073 Ly eidn) = 60 20 0|2 2
RA 002074 Eskza=s3l 2 65 20 0|2 2
wA 002075 Pk ivan) = 60 20 0|2 =
RA 002077 AR 2 60 20 0|2 =
EA 002078 KPR = 65 20 0|82 2
RA 002079 NES = 60 20 0|2 =
A 002080 i RHR = 60 20 0|2 =
EA 002081 £ B i = 60 20 0|2 =
RA 002082 FERE 2 50 0 ES &
EA 002083 FHED g 50 0 S &
wA 002085 FEBE, 2 65 20 0|8 2
RA 002086 KhEEF = 50 0 OES &
RA 002088 E/HT8E = 50 0 0|2 =
RA 002090 SERY = 50 0 OES &
RA 002091 T E R 2 60 20 0|82 2
RA 002093 EpKEHR 2 60 20 0|2 =
RA 002094 528 2 0 0 ES &

PUBLIC




RA 002095 £B=E = 50 0 0|2 =
RA 002096 2Eh = 50 0 ES &
RA 002097 LI ERRE 2 60 20 0|2 =
RA 002098 TSRRAD = 50 0 ES 5
RA 002099 EEs 2 0 0 0|2 =
RA 002100 REEY 2 0 0 0|2 2
RA 002101 I IRIBE = 60 20 0|2 =
RA 002102 BEYSRHR 2 60 20 RS 5
RA 002104 EES () = 60 20 0|82 2
RA 002105 SRR = 50 0 RS 5
RA 002106 ¥Eor 2 60 20 0|2 =
RA 002107 REEER = 50 0 MES &
RA 002108 TSI BEER = 60 20 0|2 =
RA 002109 s dian) 2 0 0 0|2 =
RA 002110 =iNEYE = 0 0 0|2 2
RA 002111 ERSIES = 50 0 MES 5
RA 002112 =R = 50 0 0|2 2
RA 002114 DI = 0 0 O] ES &
RA 002115 =HHE(E 2 60 20 0|2 =
RA 002116 FESIN = 50 0 O] ES &
RA 002117 BRI = 60 20 0|8 2
RA 002119 EESRE T = 60 20 0|2 =
RA 002120 BHKBRAD = 60 20 0|8 2
RA 002121 RIpHER T B 0 0 0|2 2
RA 002122 SCNERE = 60 20 ES &
RA 002123 ZREH 2 0 0 0|2 =
RA 002125 HEEEL = 60 20 0|8 2
RA 002126 RECERID = 65 20 0|2 =
RA 002127 FEAtREERS = 60 20 0|82 2
RA 002128 EBIREETR = 60 20 0|2 =
RA 002129 TCLAER 2 65 20 0|8 2
RA 002130 AN = 65 20 0|2 =
RA 002131 FURTARD 2 65 20 0|2 2
RA 002132 BERNY = 50 0 0|2 =
A 002134 KiEEM = 50 0 VES &
RA 002135 IRraiZE = 50 0 0|82 2
RA 002136 R Wik 2 50 0 S &
RA 002138 JIRERER F 2 65 20 0|82 2
RA 002139 IR = 65 20 0|82 2
A 002142 TRIRIT = 70 30 0|2 =
RA 002144 HAER = 50 0 W ES &
RA 002145 Pz = 60 20 0|2 2
RA 002149 FEEBA L = 60 20 0|2 =
RA 002150 ENEE = 50 0 0|82 2
wA 002151 28 = 0 0 0|2 =
EA 002152 I EBiEB = 65 20 0|2 =
RA 002153 AEER = 0 0 0|2 =
RA 002154 REZ g 60 20 0|2 2
RA 002155 HEIEE = 65 20 0|2 2
RA 002156 BEEB g 65 20 0|82 2
RA 002157 RIS g 65 20 0|2 =
RA 002158 WX EPFE = 60 20 0|2 =
RA 002159 =RRE B 50 0 S &
RA 002160 FIER0D = 50 0 0|2 =
RA 002163 BrRE = 60 20 0|82 2
RA 002164 TRES = 50 0 0|2 2
RA 002165 X 2 50 0 0|2 2
RA 002166 EEEY 2 50 0 0|2 2

PUBLIC




RA 002167 Rl = 0 0 0|2 =
RA 002169 YRS = 0 0 0|2 =
RA 002170 [=2EE)dn) = 60 20 o|& )
EA 002171 BT = 60 20 0|2 2
RA 002174 HERRMILE = 60 20 0|82 2
RA 002175 REEIE = 60 20 MES &
RA 002176 TTAFERAN 2 0 0 0|2 =
RA 002178 JELEERE = 50 0 MES 5
RA 002179 iR = 70 30 0|2 2
RA 002180 LA 2 0 0 0|2 =
RA 002182 EREW 2 60 20 0|2 =
RA 002183 RG] 2 60 20 0|2 2
RA 002185 HERRI = 65 20 0|8 2
RA 002186 e RE 2 50 0 RS 5
RA 002187 T BRI 2 50 0 RS 5
RA 002189 Ry = 0 0 0|2 2
RA 002190 Bk KEERL = 0 0 0|2 2
RA 002191 EI) = 50 0 0|82 2
RA 002192 BhIERG (D = 60 20 0|2 =
RA 002194 HiNLE = 60 20 0|8 2
RA 002195 AR = 65 20 0|8 2
RA 002196 J5IEEEH 2 60 20 ] ES =
RA 002201 JUH = 50 0 0|2 =
RA 002202 SXEHY = 65 20 0|82 2
RA 002203 SRR = 60 20 0|8 2
RA 002204 KEET g 60 20 0|2 2
RA 002206 BR S = 50 0 0|2 =
RA 002209 KEE = 50 0 S &
RA 002210 KEERR = 0 0 0|2 =
RA 002212 KEE = 0 0 0|2 =
RA 002215 BEE = 60 20 0|2 =
RA 002216 =28R = 50 0 0|8 2
RA 002219 FERTE = 60 20 0|2 2
RA 002221 IREERER = 60 20 0|2 2
RA 002222 ERRY 2 60 20 0|2 2
RA 002223 BRET = 65 20 0|2 =
RA 002224 =ht 2 50 0 ES &
RA 002225 MR = 50 0 0|& =
RA 002226 TRt T 2 60 20 W ES &
RA 002227 iR 2 0 0 S &
RA 002228 BNEE = 50 0 W ES &
RA 002229 ISR D = 0 0 0|2 =
RA 002230 RERIRE = 70 30 0|2 2
RA 002231 BAUHE(S = 0 0 W ES &
RA 002232 BRRER 2 50 0 0|2 2
RA 002233 ERpBEEEA 2 60 20 0|8 2
RA 002234 EAORR(D = 0 0 0|2 =
RA 002236 KEER D g 65 20 0|82 2
EA 002237 JEE ) = 60 20 ol 2
RA 002238 REGFL = 50 0 0|2 =
RA 002239 BHE g 60 20 0|82 2
A 002240 BEiERE = 0 0 0|2 =
RA 002241 IIREGSY 2 70 30 0|8 2
RA 002242 JUBERR D = 50 0 0|2 =
RA 002243 par=t gl g 60 20 0|82 2
RA 002245 BIIATE S B 60 20 0|2 =
RA 002246 | g Edid) = 50 0 0|2 =
RA 002248 HREuE = 0 0 O] ES &

PUBLIC




RA 002249 KIFEEHL = 60 20 0|2 =
RA 002252 L%t 2 65 20 0|2 =
RA 002254 ZERETA = 60 20 0|82 2
RA 002256 JKFRER (D 2 0 0 0|2 =
RA 002258 R 2 60 20 0|2 =
RA 002261 HHEER 2 0 0 0|2 =
RA 002262 Bzl 2 60 20 0|2 2
RA 002263 KIFE = 50 0 0|2 =
RA 002265 g T 2 60 20 RS 5
RA 002266 IEER = 60 20 0|82 2
RA 002267 BERIRS, = 50 0 0|2 2
RA 002268 FBBRINE 2 60 20 0|2 =
RA 002269 EFPARIM 2 50 0 0|2 =
RA 002270 ERPsEE 2 60 20 0|8 2
RA 002271 RIS RUAL 2 0 0 0|2 =
RA 002273 IKEEYEER 2 65 20 0|2 =
RA 002274 HLELKT 2 60 20 0|2 2
RA 002275 EM=% 2 50 0 0|2 2
RA 002276 Pal=]an) = 60 20 0|8 2
RA 002277 G = 60 20 0|8 2
RA 002279 AERHE = 0 0 O] ES &
RA 002281 FeRRIEE = 65 20 0|8 2
RA 002282 ERRD = 50 0 BES &
RA 002283 RKiET 2 60 20 0|2 =
RA 002286 REE=E = 50 0 OES &
RA 002287 BFIERZS = 50 0 0|2 2
RA 002290 FRESHAA 2 50 0 ES &
RA 002291 BER 2 0 0 0|2 =
RA 002292 BKIRR = 60 20 0|8 2
RA 002294 (EAVESS = 60 20 0|8 2
RA 002296 VISR, 2 60 20 ES &
RA 002298 FREREEY, 2 0 0 0|2 2
RA 002299 EREE = 60 20 0|2 =
RA 002300 ABHEB4R = 50 0 0|2 =
wA 002301 i ER 2 50 0 0|2 2
RA 002302 FEERRIR 2 50 0 0|2 2
RA 002304 FERTRRAD = 70 30 0|2 2
RA 002311 BAEA = 70 30 0|2 =
RA 002312 v=92 = 60 20 0|82 2
RA 002315 LR = 60 20 W ES &
RA 002318 VLS = 60 20 0|2 =
RA 002320 YIRS D = 60 20 0|2 =
RA 002321 el 2 0 0 S &
wA 002323 TEIERR D = 0 0 0|2 =
RA 002324 TR 2 60 20 0|2 2
RA 002326 KRS = 0 0 0|2 =
RA 002329 EREA = 50 0 0|2 2
wA 002332 (LFEHIZS 2 60 20 0|8 2
RA 002333 BERE g 50 0 S &
wA 002334 B 2 60 20 0|8 2
wA 002335 RlesE 2 65 20 0|8 2
RA 002338 BRI g 60 20 0|82 2
wA 002340 MR 2 65 20 0|8 2
RA 002342 EHEE = 0 0 0|2 2
RA 002343 HER = 50 0 ES &
RA 002346 YarRB& D = 50 0 0|2 2
EA 002347 BN ) = 0 0 o|& &
RA 002350 bR = 0 0 0|2 =

PUBLIC




RA 002351 BEE = 60 20 0|8 2
RA 002352 IR = 70 30 0|2 =
RA 002353 RERRRAD = 65 20 0|2 =
RA 002354 KIRERL = 0 0 0|2 =
RA 002356 S = 0 0 RS 5
RA 002357 Elifmzlk 2 50 0 RS 5
RA 002358 FRES = 60 20 0|& =
RA 002361 TR 2 60 20 0|2 =
RA 002362 XERIE 2 0 0 0|2 =
RA 002363 FEEA W, = 50 0 S &
RA 002364 hiEFES = 60 20 0|& =
RA 002365 K&zl 2 0 0 RS 5
RA 002366 BhAIZE 2 60 20 RS 5
RA 002367 B = 50 0 0|2 2
RA 002368 PN = 60 20 0|8 2
RA 002371 p|apecicl] = 70 30 0|2 2
RA 002372 EE257 = 60 20 0|2 =
RA 002373 FAREY = 60 20 0|82 2
RA 002374 RELARD 2 0 0 0|2 =
RA 002375 NIET) = 50 0 0|2 2
RA 002376 FAtFE = 60 20 0|2 =
RA 002379 TREIERR 2 0 0 0|2 =
RA 002380 FInEE = 50 0 S &
RA 002381 SUETRRAD = 50 0 S &
RA 002382 P 2 0 0 0|2 2
RA 002383 EREE 2 50 0 0|2 2
RA 002384 HRUIEE = 65 20 0|8 2
RA 002385 KAk = 0 0 0|2 =
RA 002386 KIFR D = 50 0 0|2 =
RA 002387 S = 0 0 0|82 2
RA 002389 BRRFAAL 2 60 20 0|2 =
wA 002390 EFBHIZS = 60 20 0|2 =
RA 002391 KERHD = 50 0 O] ES &
RA 002396 EmgiE = 60 20 0|8 2
RA 002398 25 = 50 0 0|1& =
RA 002399 STt = 0 0 0|2 =
RA 002400 sl EA = 60 20 0|2 2
RA 002402 NTIES 2 65 20 0|2 2
RA 002403 Z(hx = 0 0 O] ES &
RA 002404 EReL 2 50 0 ES &
RA 002405 PO4EEST = 0 0 0|2 2
RA 002406 mRIEN = 60 20 ES &
RA 002407 255 2 60 20 0|2 2
wA 002408 SRS = 0 0 0|2 =
wA 002409 SRR = 65 20 0|2 =
RA 002410 TERA B 65 20 0|82 2
RA 002412 IXFRHIZ = 50 0 0|2 =
RA 002413 ERLS = 0 0 0|2 =
RA 002414 =LA = 0 0 0|2 2
RA 002415 SRR = 70 30 0|82 2
RA 002416 ElEE g 60 20 0|2 2
RA 002418 32 dn) = 50 0 OES &
RA 002419 KETRR D = 50 0 0|2 2
RA 002421 IASCESRE 2 60 20 0|8 2
EA 002422 Bzl = 65 20 ol 2
RA 002423 RS 2 60 20 0|2 2
RA 002426 RS = 0 0 0|2 =
RA 002427 JCRER D = 0 0 0|& &

PUBLIC




RA 002428 =gl 2 60 20 0|2 =
RA 002429 JkBtBAE D = 60 20 0|2 =
RA 002430 i in) = 60 20 0|82 2
RA 002431 i) = 0 0 0|2 =
RA 002432 NERET 2 60 20 0|2 =
RA 002434 BB = 60 20 0|2 =
RA 002436 MERRIRE = 65 20 0|8 2
RA 002437 2zl 2 60 20 0|82 2
RA 002438 T LB 2 50 0 0|2 =
RA 002439 ERER = 60 20 0|8 2
RA 002440 ELRD 2 60 20 0|2 =
RA 002441 ARlsk 2 50 0 0|2 =2
RA 002443 EMEE = 50 0 MES 5
RA 002444 EER = 65 20 0|82 2
RA 002445 FREIIAL = 60 20 0|82 2
RA 002446 BRIREE = 60 20 0|2 =
RA 002448 FRERES = 60 20 W ES &
RA 002449 EE5¢H8 2 60 20 0|82 2
RA 002452 <EFEET 2 50 0 0|2 =
RA 002454 WD 2 50 0 0|2 =
RA 002455 I 2 60 20 0|2 =
RA 002456 EIENE = 0 0 0|2 2
RA 002457 BshEl 2 50 0 ES &
EA 002458 ERD 2 60 20 0|8 2
RA 002459 ERRAHY = 65 20 0|2 =
RA 002460 BEtReE) 2 70 30 0|2 2
RA 002461 BRI 2 50 0 0|82 2
RA 002462 EEE = 50 0 S &
RA 002463 JPERRR D = 70 30 0|2 2
RA 002465 SIREE = 65 20 0|2 =
RA 002466 Rl g 0 0 0|2 =
RA 002467 e 2 0 0 0|2 2
RA 002468 ERiE R = 60 20 0|2 2
RA 002469 =4HHF = 50 0 0|2 2
RA 002470 2IFX 2 0 0 0|1& =
RA 002471 TRBIEAR = 50 0 0|2 =
RA 002472 SERMETH 2 65 20 0|2 2
RA 002475 SOVEE = 70 30 0|2 =
RA 002476 EERD = 0 0 0|2 2
RA 002478 EERD = 50 0 0|2 2
RA 002479 EENR = 50 0 W ES &
RA 002481 WEE 2 50 0 0|2 2
RA 002482 I HRERA = 50 0 ES &
EA 002483 EFRRS D = 60 20 0|82 2
RA 002484 PRl ) = 60 20 0|2 2
RA 002486 BN 2 50 0 ES &
RA 002487 AEET 2 60 20 0|8 2
A 002488 SERR D = 0 0 0|2 =
RA 002489 KR = 50 0 0|82 2
EA 002491 BREER = 50 0 0|2 2
RA 002492 BEEIASE = 50 0 OES &
RA 002493 REA = 65 20 0|2 2
RA 002494 SRR D = 0 0 0|& &
RA 002495 ERER D = 0 0 0|& &
RA 002497 TEER = 0 0 0|2 =
RA 002498 P ) 2 60 20 0|82 2
RA 002500 LLIFEIES 2 60 20 0|82 2
RA 002501 FURRRAD B 0 0 0|2 =

PUBLIC




RA 002506 hEEEERK, 2 60 20 0|2 =
RA 002507 TERRIES = 60 20 0|2 =
RA 002508 EiREEEE 2 60 20 0|2 =
RA 002510 KiSHE 2 60 20 ES 5
RA 002511 FIGESR = 60 20 0|82 2
RA 002512 AR = 0 0 0|2 =
RA 002514 FERE = 0 0 MES 5
RA 002515 S NGR 2 60 20 RS 5
RA 002516 BiARHR = 60 20 MES &
RA 002517 EEATE 2 65 20 0|8 2
RA 002518 Rtk 2 60 20 0|2 2
RA 002519 R T 2 60 20 0|2 =
RA 002520 H & = 0 0 0|2 =
RA 002521 STUER = 50 0 0|2 2
RA 002523 KifieE 2 50 0 0|2 =
RA 002524 FEIERRR) = 50 0 MES 5
RA 002526 LIZRF 2 60 20 0|2 =
RA 002527 FREHA 2 0 0 0|2 =
RA 002530 SMEEK 2 0 0 0|82 2
RA 002531 KIFX 8 2 60 20 0|8 2
RA 002532 KL 2 65 20 0|2 =
RA 002533 ST 2 60 20 0|82 2
RA 002535 MRIHEER 2 50 0 ES &
RA 002536 2540 = 60 20 0|2 =
RA 002537 SRS = 60 20 0|2 =
RA 002538 IR = 50 0 0|2 =
RA 002539 = EWER 2 60 20 0|8 2
RA 002541 IBREMIA = 60 20 0|8 2
RA 002542 v at 2 0 0 S &
RA 002543 BAES 2 50 0 0|82 2
RA 002544 BERE 2 0 0 0|2 =
RA 002545 RTERIE 2 50 0 0|2 2
RA 002546 FTERER T = 50 0 0|& =
RA 002547 NMET 2 0 0 0|2 2
RA 002550 FEIHIA = 60 20 O] ES &
RA 002551 EEEET 2 0 0 S &
wA 002554 B 2 50 0 0|2 2
RA 002555 =tHE = 65 20 0|2 =
RA 002557 BIaEm = 60 20 0|82 2
RA 002558 B AR = 65 20 0|2 =
RA 002559 TPREARAD 2 60 20 W ES &
RA 002560 B = 50 0 0|2 =
RA 002563 ORI = 60 20 0|82 2
RA 002566 ezl = 50 0 0|1& =
wA 002567 A 2 0 0 0|2 2
RA 002568 [EhEl ) g 60 20 0|82 2
wA 002570 IFSES 2 60 20 0|8 2
RA 002572 HIEW 2 60 20 0|82 2
RA 002573 TERTNE 2 50 0 0|2 2
wA 002574 BEkAERSE 2 50 0 0|8 2
RA 002576 @A B 50 0 S &
RA 002577 EisiSEsd = 50 0 0|2 =
RA 002579 FRRE T = 0 0 0|2 2
RA 002581 FBELD B 0 0 0|8 2
RA 002582 YFABAR 2 0 0 ES &
wA 002583 YEEE) 2 0 0 0|2 2
wA 002584 ] S 2 50 0 ES &
RA 002585 WEF = 0 0 0|2 =

PUBLIC




RA 002587 R T = 50 0 ES 5
RA 002588 SEFF = 60 20 0|82 2
A 002589 WEED = 50 0 0|2 =
RA 002593 H &R = 50 0 ES 5
RA 002594 G| = 70 50 0|2 =
RA 002595 SIERIE = 65 20 0|2 =
RA 002597 SRl 2 60 20 0|82 2
RA 002598 WIERES = 50 0 0|2 =
RA 002599 BOERR D 2 0 0 RS 5
RA 002600 MREE 2 65 20 0|2 =
RA 002601 HABER 2 65 20 0|2 =
RA 002603 LA Z = 60 20 0|2 =
RA 002605 PhcREE 2 60 20 RS 5
RA 002606 FERE 2 50 0 0|2 =
RA 002607 hAHE = 0 0 0|82 2
RA 002608 IHEE 2 60 20 0|2 =
RA 002609 FEIR 2 50 0 0|1& 5
RA 002611 iyt AN 2 60 20 0|82 2
EA 002614 BafEsL 2 50 0 S &
RA 002616 KEEHR = 50 0 O] ES &
RA 002617 BERE = 60 20 0|82 2
EA 002623 RIGEIT 2 50 0 0|82 2
RA 002624 S5 = 60 20 0|82 2
EA 002625 HEEA = 65 20 0|8 2
EA 002626 SILE 2 60 20 0|2 =
RA 002627 =D iic = 50 0 OES &
RA 002628 FREREEH = 0 0 0|2 =
EA 002629 =) = 0 0 S &
EA 002630 HEFEREIR = 0 0 0|2 =
EA 002631 BIREE = 50 0 0|82 2
RA 002632 B 2 50 0 S &
RA 002634 RS = 0 0 0|& &
RA 002635 ERHY = 60 20 0|2 =
RA 002637 BFERE = 50 0 ES &
RA 002638 ) gD 2 0 0 S &
RA 002639 EABD = 0 0 0|2 =
RA 002642 SREAREHR = 0 0 ES &
RA 002643 JoiERgn = 60 20 0|82 2
RA 002644 a7 = 50 0 0|& &
wA 002646 KIGE] = 50 0 0|2 =
RA 002648 BEWZ = 70 30 0|2 2
RA 002649 EERHR = 60 20 0|2 =
EA 002653 R = 60 20 0|2 =
RA 002654 TR = 60 20 0|2 =
RA 002655 HXEBE = 50 0 ES &
RA 002658 ES ) = 50 0 WS &
RA 002659 EIELE] = 0 0 OES &
EA 002660 TRAERR = 50 0 0|1& =
RA 002661 HEASR 2 50 0 S &
wA 002662 BURARD 2 50 0 0|8 2
RA 002663 EFRED = 50 0 0|& =
wA 002664 (ERER 2 60 20 0|8 2
A 002666 EEREA = 50 0 VES &
wA 002668 TCLER 2 60 20 0|8 2
A 002669 BRHT = 50 0 VES &
RA 002670 EEsiE = 0 0 0|2 2
RA 002671 TERARD 2 50 0 S &
RA 002672 RTIME = 0 0 0|2 2

PUBLIC




RA 002673 PEEBIESS 2 65 20 0|2 =
RA 002675 sl = 60 20 0|2 =
RA 002677 IEEX = 50 0 o|& )
RA 002678 BRTNES = 0 0 MES 5
RA 002681 AR 2 0 0 0|2 =
RA 002685 FEIREE 2 0 0 0|2 =
RA 002688 SiEY 2 50 0 ES 5
RA 002690 ESB0=z) 2 60 20 0|82 2
RA 002691 EELARID 2 0 0 RS 5
RA 002695 12 Hig 2 50 0 0|2 =
RA 002696 BRI = 0 0 RS 5
RA 002697 LT HEERN = 50 0 0|82 2
RA 002698 [ESM: = 60 20 0|8 2
RA 002701 Bpps 2 60 20 0|82 2
RA 002703 HItH=E 2 50 0 0|2 2
RA 002705 HERID 2 60 20 0|2 =
RA 002706 REIRD = 60 20 0|82 2
RA 002707 AN = 60 20 0|82 2
RA 002709 K = 65 20 0|8 2
RA 002714 LE) = 70 30 0|2 2
RA 002715 (i) = 0 0 ES &
RA 002716 HREAR = 0 0 0|2 =
RA 002722 M0 2 50 0 S &
RA 002724 SEE 2 50 0 S &
RA 002725 BRUSRZAS = 0 0 S &
RA 002727 —i( i 2 60 20 0|82 2
RA 002728 —2al 2 50 0 ES &
RA 002729 IR = 50 0 0|2 =
RA 002732 FREEZLAL 2 50 0 ES &
RA 002733 TESERRAD = 60 20 0|8 2
RA 002734 D 2 50 0 ES &
RA 002736 EfSiIES = 65 20 0|8 2
RA 002737 il = 60 20 0|82 2
RA 002738 T ER = 65 20 0|2 2
RA 002739 ezt = 60 20 0|8 2
RA 002741 FEERE = 0 0 0|2 =
RA 002745 ARMER = 60 20 0|2 2
RA 002747 RHERIR 2 60 20 0|2 2
RA 002753 KRR = 50 0 O] ES &
RA 002755 BEE 2 0 0 ES &
RA 002756 KL = 60 20 0|8 2
RA 002757 BENLARD 2 60 20 S &
RA 002759 EN ) = 50 0 0|2 =
RA 002761 GIpARE 23 = 60 20 0|82 2
wA 002763 ICERRD = 50 0 0|& =
RA 002765 SR = 60 20 0|8 2
RA 002766 i) = 50 0 OES &
RA 002768 E BB g 50 0 0|8 2
RA 002771 =t 1G] 2 0 0 ES &
EA 002772 RSB 2 50 0 o|l& &
EA 002773 BEshzgl = 60 20 ol 2
RA 002774 HhEREaS 2 50 0 ES &
A 002775 NEHR D = 0 0 VES &
RA 002777 AEiRE 2 60 20 S &
RA 002779 FRIZRSY = 60 20 WS &
RA 002780 =Kk = 50 0 W ES &
RA 002782 EIAvA:) 2 50 0 0|2 2
RA 002783 EIy 4 = 50 0 0|2 2

PUBLIC




RA 002785 BER 2 0 0 ES 5
RA 002787 R = 0 0 o|& )
A 002790 W/RES 2 50 0 RS 5
RA 002791 IZRERE 2 50 0 0|82 2
RA 002792 BFEH 2 60 20 0|2 =
RA 002797 F—olll = 65 20 0|82 2
RA 002798 HRRE = 0 0 ES 5
RA 002799 IRBKEDSS 2 0 0 RS 5
RA 002800 KITREAL 2 0 0 RS 5
RA 002805 TN = 0 0 0|2 =
RA 002807 JIBBARTT 2 60 20 0|2 =
RA 002809 AR 4) = 50 0 S &
RA 002810 LIZRARRE = 50 0 0|2 =
RA 002812 BHER D = 65 20 0|2 =
RA 002813 BRI = 0 0 RS 5
RA 002815 EIEA 2 60 20 RS 5
RA 002817 HIIRE = 50 0 MES 5
RA 002818 EfRE = 50 0 S &
RA 002819 KSR = 0 0 ES &
RA 002821 e = 65 20 0|8 2
RA 002823 HPiEE = 50 0 S &
RA 002826 ZEREZS 2 50 0 S &
RA 002828 WERER = 50 0 BES &
RA 002831 BERE 2 60 20 0|2 =
RA 002832 R =T-ILA = 60 20 0|2 =
RA 002833 SANPEREE 2 50 0 ES &
RA 002835 Eks]iar) = 50 0 S &
RA 002837 £ 2 65 20 0|8 2
RA 002838 BRI 2 50 0 0|2 =
RA 002839 KRBT = 60 20 0|2 =
RA 002840 e ) = 0 0 0|82 2
RA 002841 RARAD = 60 20 0|2 =
RA 002842 Rl 2 0 0 S &
RA 002843 TR ARAD = 50 0 0|2 2
RA 002845 ENA 2 50 0 S &
RA 002847 HEEHT = 60 20 0|2 2
RA 002849 BES8 = 50 0 S &
RA 002850 FHAF = 65 20 0|82 2
wA 002851 RN 2 65 20 0|2 2
RA 002853 RZRaE = 50 0 W ES &
wA 002855 A 2 0 0 ES &
RA 002859 JESRHY = 60 20 0|2 =
RA 002860 EIh/R 2 50 0 0|2 2
RA 002864 g2l 2 50 0 S &
RA 002865 ENARRAD = 0 0 0|2 =
RA 002867 BXE = 60 20 0|2 2
RA 002870 i) g 50 0 S &
RA 002876 =FiE = 50 0 0|82 2
RA 002881 eSS = 60 20 0|2 2
RA 002882 BN B 50 0 S &
RA 002883 PIZER D g 50 0 S &
RA 002885 R = 50 0 0|2 =
RA 002887 FHEES = 50 0 OES &
RA 002889 RHER 2 50 0 WS &
RA 002890 BARRRAS g 50 0 0|1& =
RA 002891 RS = 60 20 0|2 2
wA 002892 /R 2 60 20 0|2 2
RA 002893 AR 2 50 0 ES &

PUBLIC




RA 002895 JI1ER&HD = 60 20 0|2 =
RA 002897 BN = 60 20 0|8 2
RA 002899 BRER = 50 0 ES &
RA 002901 KEET 2 50 0 0|2 2
RA 002902 $RE L = 0 0 0|82 2
RA 002903 FIREEE = 50 0 0|2 =
RA 002905 SIRFM 2 50 0 ES 5
RA 002906 KPR = 60 20 0|8 2
RA 002907 R 2 50 0 RS 5
RA 002908 EERI = 50 0 RS 5
RA 002912 FETER = 50 0 0|2 2
RA 002913 fhmz 2 50 0 0|2 =2
RA 002915 RRREN 2 0 0 0|2 =
A 002916 ety 2 65 20 0|2 =
RA 002917 s = 50 0 MES &
RA 002919 ZEEE 2 50 0 RS 5
RA 002920 B 2 65 20 0|2 =
RA 002921 BRBAEE = 0 0 S &
RA 002922 FxI/R = 60 20 0|8 2
RA 002923 BB D 2 50 0 0|1& &
RA 002925 BiERl = 60 20 0|8 2
RA 002926 1ETEIES 2 60 20 0|8 2
RA 002928 LEih= 2 0 0 0|2 2
RA 002929 SEERARAD = 60 20 0|8 2
RA 002930 =SS 2 50 0 0|2 =
RA 002931 SRR 2 0 0 ES &
RA 002932 BRfELEY) 2 50 0 0|2 2
RA 002933 SRR = 50 0 ES &
RA 002935 KRBT 2 50 0 0|2 2
RA 002936 RIMRIT = 60 20 0|2 =
RA 002937 MR = 50 0 0|2 2
RA 002938 e = 65 20 0|2 =
RA 002939 KIIES = 60 20 0|2 =
RA 002940 BRI 2 50 0 ES &
A 002941 FiEacEE = 50 0 0|2 =
RA 002945 HERIES 2 0 0 0|2 2
RA 002946 izl 2 50 0 0|2 2
RA 002947 E5RIA = 60 20 0|82 2
RA 002948 BHERT = 60 20 0|2 =
RA 002949 HPHERR = 50 0 0|& =
RA 002950 BAZEFEYT 2 50 0 S &
EA 002952 TR 2 50 0 S &
RA 002953 SEZ = 50 0 S &
wA 002956 AEAR 2 50 0 ES &
RA 002958 BRET = 60 20 0|2 =
RA 002960 S5iEh = 60 20 0|82 2
RA 002961 HAHRER = 50 0 WS &
A 002965 HFER = 60 20 0|2 =
A 002966 NERIT = 65 20 0|2 =
RA 002967 JEEIE B 60 20 0|1& =
RA 002970 BLBRRA = 60 20 ES &
RA 002971 TSR 2 50 0 ES &
RA 002972 Rk = 50 0 OES &
RA 002973 R = 50 0 0|& &
RA 002975 BB G = 0 0 BES &
RA 002976 IHIDRER = 50 0 W ES &
RA 002977 KERHS = 50 0 0|& &
RA 002979 EETRE = 60 20 O] ES &

PUBLIC




RA 002981 BHPERNS = 50 0 ES =
A 002982 WRERRAD = 0 0 RS B
RA 002983 SERA = 50 0 RS B
RA 002984 PR = 60 20 0|8 2
RA 002985 LESR = 60 20 0|2 =
RA 002986 FHRRAD = 50 0 RS =
RA 002987 mdt75 2 60 20 0|82 2
RA 002988 EESERY = 50 0 0|& =
RA 002989 PN = 0 0 RS =
RA 002990 BRI = 50 0 ]S =
RA 002991 HiEsMm = 50 0 RS B
RA 002992 EERE = 0 0 MES &
RA 002993 BRI = 60 20 ES B
RA 002996 InEEE = 50 0 RS 5
RA 002997 IGteEE 2 60 20 0|2 =
RA 002998 KR &R = 50 0 RS B
RA 002999 KRB = 50 0 0|& =
RA 003000 MFEH = 50 0 ES B
wA 003002 SRR = 50 0 ES B
RA 003003 KITh& D = 50 0 0|1& B
EA 003005 Flsk 2 0 0 ES B
EA 003006 BRI 2 60 20 ES &
RA 003008 FrEH 2 50 0 ES &
RA 003009 FRKE (B 50 0 NES ES
RA 003010 =P8 £ 50 0 NES ES
RA 003011 S = 50 0 ES B
RA 003012 RIS = 50 0 ES B
RA 003013 kIRt 2 50 0 ES &
RA 003016 FRER RS = 50 0 ] ES =
EA 003017 KFEY 2 50 0 ES B
EA 003018 SEREY = 50 0 ] ES =
RA 003019 RENSE = 60 20 O] ES &
EA 003020 ST5HIES 2 50 0 0|1& &
RA 003021 JKEALER = 60 20 0|2 =
RA 003022 BRBATREL = 60 20 0|2 =
RA 003023 TSR = 50 0 0|& =
EA 003025 BiHEae 2 50 0 S &
wA 003026 PEERHR = 0 0 0|& &
EA 003028 RS 2 50 0 0|1& &
wA 003031 hEEF 2 50 0 0|2 2
EA 003033 FEFO Tl 2 50 0 S &
EA 003035 B = 60 20 0|8 2
wA 003037 =F0EE 2 50 0 0|1& &
EA 003038 SR 2 50 0 0|1& &
RA 003039 =R RE = 50 0 0|2 =
wA 003041 BHEER 2 50 0 S &
wA 003042 RS 2 0 0 S &
RA 003043 I ERE = 50 0 OES &
RA 003816 PE % = 65 20 0|8 2
EA 159307 100417 = 70 40 0|82 2
RA 159310 ATl = 70 30 0|2 2
EA 159350 ZIIES0 2 70 60 0|8 2
RA 159501 HigES = 70 60 0|2 2
wA 159502 REAR 2 70 50 0|8 2
RA 159509 GHERIS = 70 30 0|82 2
RA 159513 PHERRL = 70 40 0|82 2
RA 159516 FEIRE = 70 50 0|82 2
wA 159531 iE2000 |2 70 60 0|2 2

PUBLIC




EA 159572 212005 2 70 60 0|2 =
RA 159577 ZE50 2 70 40 0|2 2
RA 159581 qJRES 2 70 40 0|2 =
wA 159591 FREAS0 2 70 60 0|2 2
wA 159592 FRiE50 2 70 40 0|2 2
RA 159593 AS0IEEL 2 70 40 0|8 2
RA 159595 ASOES 2 70 40 0|82 2
RA 159596 AS0%E=E 2 70 60 0|82 2
RA 159599 o ATEE = 70 30 0|2 =
RA 159601 A50 2 70 60 0|2 2
wA 159602 fhEA50 2 70 60 0|2 2
RA 159603 WEIRZA 2 70 40 0|2 =
RA 159605 BEXE = 70 60 0|2 =
RA 159607 i E Bk 2 70 60 0|82 2
RA 159610 500158 2 60 0 0|82 2
RA 159611 BB IETF 2 70 60 0|2 2
RA 159628 E\F2000 |2 70 40 0|82 2
RA 159629 1000ETF 2 70 60 0|2 2
RA 159632 NEMATT = 70 40 0|8 2
wA 159633 771000 2 70 60 0|2 2
EA 159636 HBRIEE30 2 70 30 0|2 2
wA 159637 FrRetesk 2 70 30 0|2 2
RA 159638 S = 70 50 0|2 2
wA 159639 WRPFINF - [2 70 60 0|2 2
RA 159647 HRZEETF 2 60 0 0|2 2
EA 159659 g 2 70 40 0|8 2
EA 159660 #5100 2 70 40 0|2 2
RA 159665 oAk = 60 0 OES &
EA 159671 mEE 2 60 0 0|2 2
RA 159673 PH300ETF |2 70 40 0|2 2
EA 159681 BIIS0ETF 2 70 40 0|2 2
EA 159682 BV = 70 40 0|82 2
RA 159691 SHREHK |2 70 40 0|2 2
EA 159696 44100ETF |2 70 60 0|2 2
RA 159732 EEREE T 2 70 50 0|2 2
RA 159736 RBETF 2 70 30 0|2 2
RA 159740 BERNY = 70 30 0|2 =
RA 159741 BRRRHS = 70 50 0|2 =
RA 159742 EfgR = 70 30 0|2 =
RA 159755 EBthETF 2 70 60 0|2 2
EA 159758 £TF50 2 70 60 0|2 2
RA 159766 FRBSETF 2 70 60 0|2 2
RA 159770 GIEIN 2 70 40 0|2 2
RA 159780 WEYETF 2 70 60 0|2 2
EA 159781 Eleial 2 70 60 ol =2
RA 159782 W B150 2 70 40 0|8 2
RA 159783 WOIES = 70 60 0|2 2
RA 159790 et 2 70 60 0|8 2
RA 159792 BELM B 70 60 0|82 2
EA 159796 EEith B 70 30 0|82 2
RA 159801 SHES = 70 50 0|2 2
RA 159806 FHEE = 70 50 0|82 2
EA 159807 BH#50 2 70 60 0|8 2
RA 159813 ya = 70 30 0|82 2
RA 159814 Bl B 60 0 0|8 2
RA 159819 AIERRE 2 70 50 0|2 2
RA 159820 S500ETFE |2 70 40 0|82 2
RA 159825 FAVETF 2 70 60 0|2 2

PUBLIC




RA 159828 EfFETF 2 70 50 0|2 =
RA 159837 EYRE = 70 60 0|2 =
A 159839 S E] 2 60 0 0|2 =
RA 159840 $EERth50 2 70 30 0|2 2
RA 159841 IFSETF 2 70 30 0|2 2
RA 159842 EFSETF 2 70 30 0|2 2
RA 159845 fiF1000 |2 70 60 0|2 2
EA 159847 EET 2 70 50 0|2 =2
RA 159850 HAZ50 2 70 60 0|2 2
RA 159851 SRIETF 2 70 60 0|2 2
RA 159852 RIHETF 2 70 60 0|2 =2
RA 159857 FELRETF 2 70 30 0|2 =2
RA 159859 47530 2 70 30 0|2 =
RA 159865 FIEETF 2 70 60 0|2 2
RA 159867 EHETF 2 60 0 0|2 =
RA 159869 HEXKETF 2 70 50 0|2 =2
RA 159870 {LIETF 2 70 40 0|2 2
RA 159875 FhAcR = 70 50 0|82 2
EA 159883 R = 60 0 0|82 2
RA 159892 EEEY 2 70 50 0|2 2
EA 159901 SRI00ETF |2 70 60 0|2 2
RA 159903 RREETF 2 70 60 0|2 2
RA 159905 RETF 2 70 40 0|8 2
EA 159908 BlHRBS |2 70 40 0|2 2
EA 159915 Bl AR 2 70 60 0|2 2
EA 159919 FSER300 2 70 60 0|2 2
EA 159920 {E4EETF 2 70 60 0|2 2
RA 159922 500ETF 2 70 60 0|2 2
RA 159925 575300 2 70 60 0|2 2
RA 159928 JHEEETF 2 70 30 0|2 2
RA 159929 EZ5ETF 2 70 30 0|2 2
RA 159934 EEETF 2 70 60 0|2 2
wA 159937 9999 |2 70 40 0|2 2
RA 159938 E7 2 70 50 0|2 2
EA 159939 EERA = 70 50 0|8 2
RA 159941 YNISETF 2 70 60 0|2 2
RA 159948 BIMIAREF 2 70 60 0|2 2
EA 159949 Bl #R50 2 70 40 0|2 2
EA 159952 BIVETF 2 70 60 0|2 2
EA 159957 BARHX |2 70 60 0|2 2
wA 159959 RETF 2 70 40 0|2 2
EA 159964 BARPA |2 60 0 0|2 2
RA 159966 BSINE = 70 60 0|2 2
RA 159967 BURE = 70 60 0|2 2
wA 159968 ZZ500ETF |2 70 40 0|2 2
EA 159971 Bljdl100 2 70 60 0|8 2
RA 159977 BIARTH |2 70 40 0|8 2
RA 159992 B B 70 30 0|82 2
wA 159993 AT 2 70 30 0|8 2
RA 159994 5GETF 2 70 30 0|8 2
EA 159995 SHEETF 2 70 50 0|8 2
RA 159996 FREBETF 2 70 50 0|8 2
RA 159997 EBFETF 2 70 30 0|8 2
RA 159998 TTE = 70 30 0|82 2

PUBLIC




